UGC NET 2021 Adult Education CE Andragogy NFE

Topic:- 46AdultEdu_A

1) The National Adult Education programme was launched on

(1) 2"d October 1978 (2) 2"d October 1979
(3) 24 October 1980 (4) 24 October 1981

I GG for8m eriaye &t Femue g5 off -

(1) 2 srps 1978 (2) 2 srmez 1979

(3) 2 srpe= 1980 (4) 2 srmez 1981
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2) In Indian context the committee which has suggested closer of educational institutions for a year to involve students and
teachers involve in National social service to transform the social and education system?

(1) C.D. Deshmukh Committee (2) Secondary Education Committee
(3) National Educational Committee (4) Committee on New Educational policies

cdR yRggu i AenfSw i ifdre gurrcht 3 uf¥ador cror @ fore s1qg) sz sieamum! o asdi= 3z Afis Aar 3 onfdra wal @ 1w v ad
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(1) 2. . Sorgz Afhfr (2) aeafdrs Rig afife
(3) o Rign Ay (4) oré Rrgn offer vieieh axfifer
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3) National Adult education programe was renamed in 1982 with some changes in focus. What was it known as?

(1) Continuing Education (2) Sakshar Bharath Programe
(3) 20 Percent programme  (4) Adult Education programme

@o Ascaqul ulade w3 gu A Yie 191511 DRigA o1 ad 1982 3 Yst: olavl b1 SRII $IDI GRIT olld o1?
(1) e fdrgm (2) A8z MRA ORIGH
(3) &t 3zt riar (4) Qi frgm origw
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4) Foundational literacy and numeracy, critical life skills, vocational skills, basic education and continuing education are
broad areas of

(1) National curriculum frame work for A.E
(2) International commission of A.E

(3) Adult education policy of USA

(4) NCERT

3renf¥es ATSRAI 3R IXRATCHD I, Ascayyi shiael wlgret, RaARie ®Bigre, gforncl fArsn iz dada fArgn s &1 3 :
(1) ué. @ forw I urazrRRIt

(2) u. §. @1 storisdk mRier

(3) dAge s smEify@T &t gig fre ofifer

(4) e 9ifdre arggienst yfdigor ufvas (vor 2t § R &)
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5) Identify the item from the following which is not a character of learning society?
(1) Learning is a continuing activity through out the life

(2) Learners take responsibility for their own progress

(3) Assessment confirms progress rather than failure

(4) Learners learn uniformally

forgotferfaa arcl 3 A 31 o1 &bl usaTar @3 Sit forgmelf FarsT 6t fardrwar 3 :
(1) fzaer Shtaer-uria Sl ot arcil Aaa sifefaeh 3

(2) forgmeff sruohl ypifer &1 REdcr o 3

(3) Ieaipol, 3RIBcIdI &t getolt 3 yoIfer &bt gfte wzar

(4) foremeff vos Farret U A Mwa 3
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6) Alternative Education, also known as

(1) Family education (2) Non-Traditional Education
(3) Traditional Education (4) Non-Family education

dopfeud forgi 31 wu 3 off Sirelt St 3

(1) udlar forgm (2) 3z wruzPME I8

(3) usuzera forgm (4) 31 uifsaits® fOrgm
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7) The use of word andragogy has been traced back as far as to

(1) Early Ninteenth century (2) Late Ninteenth century
(3) Early Twentieth century (4) Late Twentieth century

qli:a fI8IT oI 916 T YRIIGT IR Z3ll-

(1) Sootirdl A<t & 3rRsT A (2) Sooti=rdl At @ IaReed A

(3) dierdl St @ 3R 3 (4) dierdi A8t & Iarred 3
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8) Andragogy is also referred to as

(1) Compressed theory of adult learning
(2) Comprehensive theory of adult learning
(3) Continued theory of adult learning

(4) Condensed theory of adult learning

ugpiisil @I 3ecid 31 YR i diar 8

(1) di::@ sifeera o fdra Rrgia

(2) i@ siftera ot foqga Rigia

(3) gi::@ siftera @1 AAaq Rigia

(4) qioe sif?ere @1 JrEe Rigia
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9) He is generally credited with the popularization of the term “Andragogy”

(1) Freire (2) Knowles
(3) Miller (4) Marx

Ul::G 3IEARIGT 9T 916G B IR dollol A 31 Al A Adfera 3 -
(w3 (2)sllerx
(3) B (4) st
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10) The phrase “The Millstone of Pedagogy” was used by

(1) Knowels (2) Freire
(3) Illich (4) Russo

" Brer<lol sifw Uspifsll” were gy e sk -
(1) sitcar (2) 8o
(3) sfeera (4) =01
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11) “Eight ages of man” provided by-

(1) Erik Erikson (2) Carl Jung
(3) Abraham Maslow  (4) Carl Rogers

'ge gord 3ifw dal (Rigia) feaa & 3 -

(1) ol vi¥aera (2) oIt St

(3) srgrBH el (4) orct ot
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12) The sub titles such as “Farewell to Pedagogy” was used by

(1) Miller (2) Knowles
(3) Brecht (4) Marx

"derde ¢ A" SIA Suefid® @1 Yl Rowor Rar?
(1) Brer (2) sitcar
(3) Joa/gee  (4) Fmad

[Question ID = 1215][Question Description = Q12_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 4857]
2.2

[Option ID = 4858]
3.3

[Option ID = 4859]
4. 4

[Option ID = 4860]

13) Abraham Maslow (1972) placed special emphasis on:

(1) The role of safety (2) The readiness of learning
(3) The structure of self (4) The latency



3gIed dAxcl (1972) 3 fooa uz fa9y ae -

(1) JRem &I syfdrpt (2) sif2ere &t acazar

(3) 3irea &t Fivaen (4) sr=rIepar
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14) The art and science of helping adults learning is known as

(1) Pedagogy (2) Self-Directed learning
(3) Andragogy (4) Demagogy

gl cAftbal D 18I Yclol @2l 3 ASRIAT Sol dict el 3R fASier &l dar Sirdr &:
(1) fargror om=<y (2) ra-forétora foreror
(3) ugmElls (i@ 3ERIel 9I<))  (4) Stolldsiel
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15) Sustainable Development Goals (SDGs) of UNDP listed as number

(1) 17 (2) 08
(3) 10 (4) 05

3, wol. 31. Ul. @I SHmifere frprt agx (SDGs) A 3 adl = -
(1) 17 (2) 08
(3) 10 (4) 05
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16) Discussion of desirable society was initiated by

(1) Mahatma Gandhi (2) Pandit Jawharlal Nehru
(3) Lajpat Rai (4) Vallabh Bhai Patel

daiooiia Harst &t Taf foeifeiRaa afte gRrI 9pRs &I a1 oft
(1) #ETcar arieh (2) df¥a srars: o e
(3) cIrsada | (4) acem si$ uear
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17) Which of the following devices is required to connect a computer to the internet?

(1) Pen drive (2) Mouse
(3) DVD (4) Modem

forgsiferlae 31 3 PBlel AT IUDWT BIYC? DI $eolc A Sil:xSol D forw smaga® 3?7
(1) Yot gza@ (2) a3
B)A @S (4) @A
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18) Full form of VIRUS is

(1) Versatile information Research under seige
(2) Vital information Research under seige

(3) Volume of information Research under seige

(4) Video information Research under seige

ARRA (ARR3A) @ feqga »u 3:

(1) aRierse soawrtiorwe Rrd sise s
(2) arset sowRionet RRIY 3ise Hst

(3) arcyd 3w solbrlret ¥Rt sise st
(4) A3 sorwEiorel RRIF sis? s
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19) The Full form of MOOC is

(1) Massive Open Optional Course (2) Massive open online course
(3) Multimedia open online course (4) Multimedia open optional course

I (MOOC) @1 yui 3u 3 -

(1) 3if3ra 3ior 3McHcIcT B (2) 3if3a e siforci$or ®r=t

(3) FIcELfiS sidor sifolct$or DIt (4) FIca3E=an 3ol sifTerer ol
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20) ‘Swayam’ is very much important in

(1) Agriculture (2) Sports
(3) Education (4) Health

"¥arma forgoifeiRaa 3 aga Ascayyi 3:
(1) ®fx (2) Ferpg
(3) forem (4) Farrea
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21) What is elaboration of “Cc” in an email?

(1) Close circuit (2) Carbon copy
(3) Close contact (4) Concealed contact

o drer “Cc” 3 oI Rega »u 3:

(1) acirsr Afve (2) ordor orcit

(3) arelist wée (4) ®=fics B
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22) URL means

(1) Uniform Resource Locator  (2) University Resource Library
(3) Uniform Repository Locator (4) Universal Repository Location

3 3R Tel I MY 3-
(1) Johwist PRt cide: (2) JolaRfél it arsg st
(3) Joltwisf Jfsedt didses (4) Jofia=ia JaifSest cidora
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23) One of these is not a basic term associated with computers

(1) Hardware (2) Software
(3) Data (4) Plagiarism

Soldl A UD DRI A ;ST Hel 9IS ofdl 3 -



(1) srsasr (2) ATgcasr
(3) stex (4) weIf¥sa
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24) ‘Living today’ A radio programme broad casted to enhance the community Development in adult education programme
is from

(1) United Kingdom
(2) India
(3) United States of America

(4) Tanzania

qi:a fArgn wriaga i AcIieue fwrt 3 giy oo & ynfva e steraren 30 oriag " ¢::3' ot o1 3?
(1) gomses fparsar

(2) sz

(3) e w5 srafet

(4) deuform
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25) As per New National Education Policy 2020 which of the following is newly integral part of school education?
(1) Early childhood care and education

(2) Sports education

(3) Agriculture Education

(4) Professional Education

or$ ascr fore ofifer, 2020 o sioAR foweifeiRaa 3 A RpA Fayer fdren @t 3ifdteol 3T TolRm SR 37
(1) 3mRfdre forgy S¥asiret 3ii= forgm

(2) Frerpg forgm

(3) ftr forgm

(4) A9raz forgm
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26) Statement I: Due to the corona pandemic, the entire country saw a tremendous increase in online teaching
Statement Il: In future, there has to be a blend of online and offline teaching which has to be achieved in next five years

In the light of the above statements, Choose the correct answer from the options given below
(1) Both Statement | and Statement Il are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Staement Il is false

(4) Statement | is false but Staement Il is true

il 1 perel fu arw 3 ¢
@l (1) : DRIe HBATS D DIRUI, Y 391 o sifelciset f1grur 3 argaygd gefér Sxit
et (1) : enfersr 3, sifersat iR sifersa {18101 BT Uap fi9yuT BIe S 3EIel Ul ATell 3 e 8l SIres

SRt ®Uel @ 3Iclld 3, il U se faweul 3 A JEl I @I T=Iel HIfSIG :
(1) et (1) iz (Il ) Sl 71T 3

(2) weret (1) sz (1) St srerca 3

(3) weaa (1) a1 &, afdpar wert (1) srica &

(4) e (1) srica 8, aftpot e (1) a3
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27) Given below are two statements: One is labeled as Assertion A and the other is labeled as Reason R

Assertion (A): With the development of science and technology, the forms and ways of communication have become more
specialised and there is an increasing use of social media as the new methods of communication

Reasons (R): In the socities of today, the communication process is more complex and indirect because of the use of modern
gadgets in which the individuals do not interact face to face
In the light of the above staements, Choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the NOT correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

ofld A1 werot fou a1e 3 : v sifdraverct Assertion(A) @ zu 3 feilRad 2 dl gzt 3Ad wrur Reason(R) & »u & :

sifdrperet (A): fstrer s QielRrbl & fRiprRT & ATe-AT AAR D Taeu 3R D e RNUSArI 3l s1v 3 3R IFar D ou adel D »a i
Florer #if¥en @1 siffres yRiter R s 281 Y

@Rl (R): 36T @ ST 3 MEYford UMVl (3isic) & YRIPI, BRI RAfth 3M3oel-AMol UdIG 18l DT, D PRUI IAR DI YR Mf2d sIfeer
3iie srgraer 3Y
SRS D6l D 3HIClIdb 3, o U s1u fraseul 3 I 8l IR @I w6t HIfSTe &

(1) (A) sz (R) creii a1ea 3 siiz (R), (A) & 18 =ien @

(2) (A) siiz (R) <reit a1 3, cfdvor (R), (A) &t & e oiél 3

(3) (A) 5rea 8, afdvat (R) srcar 3

(4) (A) sr1ea 3, cfdvor (R) I @
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28) Given below are two statements: One is labeled as Assertion A and the other is labeled as Reason R
Assertion (A) : Human resource development plays a critical role in the socio-economic development of a country

Reasons (R) : The welfare and development of the weaker sections of the society largely depend upon suitable policy
directions executed through appropriate programmed and strategies
In the light of the above staements, Choose the most appropriate answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the NOT correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

ofld A1 werol 3T a8 3 : v sifdrverct Assertion (A) @ wu & feilRaa 3 dY gt 3ad orut Reason (R) & wu 3
sifrperet (A) : #ora HATerl fpRT Sor @ AENfSie-nfées frmr 3 Aecagut yfdret srer wear 3

@RI (R) : ST D BIHSAR GBI DI DeAIvT 31 [IPRT Al dlRuz IWRID olifer foréoret aen 3k oRrRiayil siiz WHHIRI & GRI Iad fARIeaReT
uz forsiz @
SWRIP Pl D 3MIclld 3, oA e sre fweul 3 A AT IWY° 3T DI RI6T HIfSre

(1) (A) 3z (R) el &t 3 3R (R), (A) &bl Al saren @

(2) (A) 3z (R) 3rell 2181 3, cfdpot (R), (A) &t 3t e o1ét 3

(3) (A) =& 3, afer (R) 38t o1 3

(4) (A) & ot 3 afdpor (R) 11 3
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29) Given below are two statements: One is labeled as Assertion A and the other is labeled as Reason R

Assertion (A): Education is a life long activity which begins at birth and continues till one dies It does not terminate at the
end of formal schooling but is a lifelong process

Reasons (R): Life long education covers the entire life span of an individual and includes formal, non-formal needs of an
individuals
In the light of the above statement, choose the correct answer from the given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the NOT correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

i<l Q1 erol fGu a1u 3 @ o sifdrperst Assertion (A) @ »u 3 ferRaa & A g1 3Ad> ®rur Reason (R) @& »u 3 :

sifdreperet (A): RIg vas Shidel-uRf aerel arclt GRR 3 it sloat & HIRT A BH B JoJ-uRka st 3wt 3Y 15 siiuaifyes o Rign & Fama

@RI (R): Siiger-u=ia 1311 3 cafts o AYvi silder oI srafr enfdrer kel 3 3l 329 saftp I siiuanie, SR-3funis® SRed 3iIdl &
IR Bl D 3IUICAID 3, ofid U s1u fraeul 3 A A8l IR DI wRIal DU :

(1) (A) siiz (R) <l a1car & aiiz (R), (A) Bt 318t careoen 3

(2) (A) siiz (R) <l 21car 3, Afvet (R), (A) B a8 oo ol 3
(3) (A) arcar 3, Aftwer (R) sraaca 8

(4) (A) srrca 3, aRvor (R) arca 8



[Question ID = 1232][Question Description = Q29_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4925]
2.2

[Option ID = 4926]
3.3

[Option ID = 4927]
4. 4

[Option ID = 4928]
30) Given below are two statements: One is labeled as Assertion A and the other is labeled as Reason R

Assertion (A) : The caste system is unique to India and is also the basis of stratification in our country. The caste is an
inseparable aspect of Indian society in which all the castes in all the four major religions- Hindu, Muslim, Sikh, Christian - are

living peacefully with each other

Reasons (R) : The caste system with all its pecularities is unique to India and hence it is not universal
In the light of the above staements, Choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the NOT correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

il Q1 perol feu a1u 3 @ o sifrperst Assertion (A) @ »u 3 feilRaa & aY g1 3Ad> ®rur Reason (R) & »u 3 @

aifdrperet (A) : sufergen sira & sifedi g 3 3R A6 saAR S91 # Fa=-feIRT &1 snenR off 3 Sufel, sl J31rst @1 sifdsisu usel 3 SR art
yga epdit-RBog, #Rcer, Rrawa, Sand &1 it suferit v g o e oriferguf Gor A 6 & 3

@Rt (R) : 3ruoft zreft fafdrseansii o arer sufer gem siea & sifgdizn ger 3 3iiz safee e wrabiifis ol 3
SWRTP PYU6I D 3IHIelld 3, ofid fGu s1u fmeal 3 A A8 IR DI WRIe DHIfSIu :

(1) (A) siiz (R) <l arcar & aiiz (R), (A) Bt 318t careoen 3

(2) (A) siiz (R) <l 21car 3, Afwet (R), (A) B T oo ordl 3
(3) (A) arcar 3, Aftwer (R) sraaca 3

(4) (A) srrcar 3, afdvor (R) 2 3
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31) In which year India implemented the National Family Planning Programme?

(1) 1951 (2) 1952
(3) 1953 (4) 1954

31 of b1 ad 3 ICRI uRkar foriisiol wRiay ee] fan?
(1) 1951 (2) 1952
(3) 1953 (4) 1954

[Question ID = 1234][Question Description = Q31_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4933]
2.2

[Option ID = 4934]
3.3

[Option ID = 4935]
4. 4

[Option ID = 4936]



32) National skill development policy mainly for

(1) Youth (2) Farmers
(3) Handicapped (Divyang) (4) Sr. Citizen

ISERT Bloret famrT siifer Fge=r u A 3 -

(1) gasii & fere (2) fpareil @ forg

(3) Roaisit & fere (4) afrs sEI®! & R

[Question ID = 1235][Question Description = Q32_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4937]
2.2

[Option ID = 4938]
3.3

[Option ID = 4939]
4. 4

[Option ID = 4940]

33) The term Entrpreneurship refers to

(1) Person  (2) Product
(3) Process (4) Output

Seroficrdr ug o 3ref 3:
(1) cafep (2) 3curc
(3) gfegen (4) 3curcet (3m3cye)

[Question ID = 1236][Question Description = Q33_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4941]
2.2

[Option ID = 4942]
3.3

[Option ID = 4943]
4. 4

[Option ID = 4944]

34) Which of the following is connected to self help group?

(1) NLM (2) MPFL
(3) SEWA (4) ICDS

FRI-FBRIAT FIAF BT TD AIIES IGIEWT 8 -

(1) wol. wet. wat. (NLM) (2) wa. Ul. uw. wal. (MPFL)
(3) vt $. secy, w. (SEWA) (4) s, 3f. 21wz (ICDS)

[Question ID = 1237][Question Description = Q34_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4945]
2.2

[Option ID = 4946]
3.3

[Option ID = 4947]
4. 4

[Option ID = 4948]

35) Innovation and incubation centres set up by State Governments under ministry of
(1) Higher and technical education

(2) Sports and youth affairs

(3) Social welfare

(4) Skill Development and Entrepreneurship



IS DRI HIRI SIARIR 3R Igd Dogl oI Femuell o siqrery @ siefier Xt 3?
(1) 3z ik awmoiidt fdrgm

(2) e va gar AR

(3) eI D

(4) wlorer faRT wd Ierfdrar

[Question ID = 1238][Question Description = Q35_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 4949]
2.2

[Option ID = 4950]
3.3

[Option ID = 4951]
4. 4

[Option ID = 4952]

36) Data collection by other agencies and made readily available to reasearcher, is referred as
(1) Primary data

(2) Secondary data

(3) Readymade data

(4) Raw data

3163 GOIRRI & FRI i3l DI U] Bl 312 3o oNenfRIl ®I =arefl A Suciee &2t DY Bad 3 -
(1) grerfdres aifes

(2) zrerRIw/1v1 3iies

(3) dar st

(4) @< sifws

[Question ID = 1239][Question Description = Q36_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4953]
2.2

[Option ID = 4954]
3.3

[Option ID = 4955]
4. 4

[Option ID = 4956]

37) The analysis of Latin squire Research [LS Design] is similar to
(1) Two way Anova Techiniques

(2) U Test

(3) H Test

(4) Spearman Rank Correlation

cifeet ¥aarr Rerd (va v RBeirset) @ feauvr i @ 66t 37
(1) . wohar 2asoftaar

(2) 322

(3) wa e

(4) Buzstize ¥ DIfkd9mT

[Question ID = 1240][Question Description = Q37_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4957]
2.2

[Option ID = 4958]
3.3

[Option ID = 4959]



4. 4
[Option ID = 4960]

38) When observations of researcher is processed then it refers?
(1) Information

(2) Knowledge

(3) Data

(4) Evidance

st onerreff GrR1 gra agil ur eriadl &t sidl 3, 3wt sref aiar 3 -
(1) Jgerom
(2) swor
(3) aifews
(4) sga

[Question ID = 1241][Question Description = Q38_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 4961]
2.2

[Option ID = 4962]
3.3

[Option ID = 4963]
4. 4

[Option ID = 4964]

39) One of these is NOT the characteristics of life long learning who have achieved success:
(1) Reading and thinking

(2) Bursting fixed mindsets

(3) Overconfidence and arrogance

(4) Experimental and creation

Foldl A U ol cilall bl Shidel-ur=fa fdrgn & fadrudr oidt 3 freslol Awerar gra & 3:
(1) ot 3iiz Rider

(2) dic feawret @ Hietolt

(3) aifér Rrearat aiz sEDR

(4) areier 3iiy Fotot

[Question ID = 1242][Question Description = Q39_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4965]
2.2

[Option ID = 4966]
3.3

[Option ID = 4967]
4. 4

[Option ID = 4968]

40) When data are collected on the entire population rather than a sample this is reffered to as a?
(1) Sample

(2) Population

(3) Universe

(4) Census

S Yuct D SeIRT AL 3MEISt B MER UR TS vane) fpu oIl & Al 3oa sl ST -
(1) ga



(2) smErcY/SoRiTRn
(3) zmaafee
(4) STeEIUTeT

[Question ID = 1243][Question Description = Q40_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4969]
2.2

[Option ID = 4970]
3.3

[Option ID = 4971]
4. 4

[Option ID = 4972]

41) The process of selecting people or elements from a population for inclusion in a research study it refers?

(1) Population (2) Universe
(3) Sampling (4) Census

Th 9IIEI 3TERRIGT H AATAIIGT D I 3 UD AEIGT A vl el dedl D aRIol DI Yfpar oI Ade 8 -

(1) StoRiz=m A (2) safte A
(3) Aufessr A (4) Stee1TeT A

[Question ID = 1244][Question Description = Q41_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 4973]
2.2

[Option ID = 4974]
3.3

[Option ID = 4975]
4. 4

[Option ID = 4976]
42) The adults differ from children in learning

(A) Validate their beliefs and values based on the information

(B) Learning to be useful in their long term future

(C) Expect that learning should be useful immediately

(D) Accept the information presented to them

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (A) and (D) only

(3) (A) and (C) only

(4) (B) and (C) only

forgrur 3t gi:@ acdl A 39 AEIA A fied 2:

(A) sruefl SIeTdT @ 3MER U 36l feardl siiz Je=il o faftsme=r o 3
(B) 3ot Siefopiferes sifarer 3 forem SuRieh 2kl 3

(C) amigm w2 & b fArem g3a suRieh 3

(D) srorpI gdge &l 91 SIGIPRI @I FAIPR D 8

oifa fou s1e freul 3 A AR IWRITP IR DI RIel Hifste:

(1) @aer (A) siiz (B)

(2) @aer (A) sirz (D)

(3) @aer (A) aiiz (C)

(4) @aa (B) siiz (C)

[Question ID = 1245][Question Description = Q42_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 4977]
2.2



[Option ID = 4978]
3.3

[Option ID = 4979]
4. 4

[Option ID = 4980]
43) Which of the following were part of the broad objectives of Sakshar Bharat Mission?

(A) Promote a learning society

(B) Impart non and neo-literates skills to non and neoliterates to improve their earnings and living condition
(C) Intensive combing of drop cuts to enroll them in sexual education

(D) Impart functional literacy and numeracy to non literates and non-numerate adults

Choose the most appropriate answer from the options given below :
(1) (A), (B), (C) only

(2) (B), (C), (D) only

(3) (A), (C), (D) only

(4) (A), (B), (C), (D) only

forgoifeiRaa & A a-a=m MeR MR f39rer @ wud 359a A AR a?

(A) f2ErI-aget TS DI FeIal Soll

(B) foreR 3R sIa-AT¢IR ftpeil Bl Iokchl 3R 3i1? IaAD Sfidel = 3 FLR il D fe1u forvR 3ii= sIaRIgR DI YgIal Dol
(C) & & ueTS BY::3ol ardl a<dl bl 31661 eIl Bl iR Fapetl fdreir 3 358 gar Soir

(D) foregrz 3iiz HoAT Siiol A3 Gi::G DI YPRICHDATIGRAT 312 IR SII6T YgIol BIell

ofid 3w a1 el d A A IWITP IR DT WA HIfIT :
(1) @aet (A), (B), (C)

(2) @ae (B), (C), (D)

(3) @aet (A), (C), (D)

(4) @aa (A), (B), (C), (D)

[Question ID = 1246][Question Description = Q43_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4981]
2.2

[Option ID = 4982]
3.3

[Option ID = 4983]
4. 4

[Option ID = 4984]
44) ldentify following which are the stakeholder in higher education

(A) Student

(B) Teacher

(C) Administrator

(D) Computer

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (D) only

(3) (C) and (D) only

(4) (A) and (D) only

forgatfeiRaa 3t oiot 3a fAren 3 Baeme® ala 3?7
(A) feremeff

(B) sremues
(C) yom=td



(D) wwge2

o R a1e Riasedt 3 3 31e SuEs Faw B auel B :
(1) @aer (A) siiz (B)
(2) ®aa (B) sz (D)
(3) daa (C) 3z (D)
(4) @aer (A) siiz (D)

[Question ID = 1247][Question Description = Q44_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4985]
2.2

[Option ID = 4986]
3.3

[Option ID = 4987]
4. 4

[Option ID = 4988]
45) Gestalt psychology emphasized on:

(A) Organizational experiences

(B) Internal and External factors

(C) Relationship between part and whole
(D) Wholeness of behaviour

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only

(2) (A), (C) and (D) only

(3) (B), (C) and (D) only

(4) (B) and (C) only

Clce AoNfASIIeT SR ST 3:

(A) JoToaIIcHD 3MoHdl UR
(B) stiaf¥e® vd arer ore $
(C) sidfi-3for Jder

(D) wraer $t zigofar

ot Rt s1e Rieedl 3 A Aad SUYD Fa2 BT Aol BT
(1) @ae (A), (B) siiz (C)

(2) ®aa (A), (C) siiz (D)

(3) ®aa (B), (C) siiz (D)

(4) ®aa (B) siiz (C)

[Question ID = 1248][Question Description = Q45_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4989]
2.2

[Option ID = 4990]
3.3

[Option ID = 4991]
4. 4

[Option ID = 4992]
46) Terminological variety of many terms similar to distance education which have been widely accepted are

(A) Flexi study

(B) Open learning

(C) On campus learning
(D) Independent learning

Choose the most appropriate answer from the options given below :



(1) (A), (B) and (D) only
(2) (A), (C) and (D) only
(3) (B), (C) and (D) only
(4) (A), (B), (C) and (D) only

g o181 A frcrel Setol d9ga A UGl @I =ae Fdaf Bie o 3; 368 Risifpa Hifsme:

(A) weraedl sieRRIer

(B) o> aifeeran

(C) uferz @ sfiR sifeera (sifor daurtcafofor)
(D) adq siféemer

ofid fou o1 fesedl & A AT IUITP IR BT <RIl HIRIT :
(1) @aet (A), (B), (D)

(2) @ae (A), (C), (D)

(3) @aa (B), (C), (D)

(4) @aa (A), (B), (C) sz (D)

[Question ID = 1249][Question Description = Q46_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4993]
2.2

[Option ID = 4994]
3.3

[Option ID = 4995]
4. 4

[Option ID = 4996]
47) What are the major criteria for effectively organized group of learning experiences?

(A) Sequence

(B) Integration

(C) Evaluation

(D) Continuity

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (D) only

(2) (B), (C) and (D) only

(3) (C), (D) and (A) only

(4) (B), (A), and (C) only

gHIdl GoT A SIRNTSIA 18101 3iofsid AIPg D fe1e Yy AlGIGS a=al 3?7

(A) srotapa
(B) @iwat
(C) Feiavot
(D) forarzar

ofid fou o1 fesedl & A AT IURITP IR BT <RIl HIRIT :
(1) @aet (A), (B) siiz (D)
(2) @ae (B), (C) sirz (D)
(3) @aa (C), (D) siiz (A)
(4) @aa (B), (A) aiiz (C)

[Question ID = 1250][Question Description = Q47_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4997]
2.2

[Option ID = 4998]
3.3



[Option ID = 4999]
4. 4

[Option ID = 5000]

48) Sustainable development goals in education is to ensure inclusive and equitable quality education and promote life long
opportunities for all includes

(A) Global power play

(B) Cultural appreciation

(C) Gender equality

(D) Climate change and production

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (C) only
(4) (B) and (D) only

forgm den SEfopifer famr1 cig, AaArAoft 3iiz Faret Spuradr arcil forg Jfoiua @ 3 siiz 1l @ e Shtaer-uafd sra=R Iuctst ward 3,
sofdl onfdret 3 :

(A) aRaw erfts Wer

(B) wirapfera geim

(C) cifdres AaTeTar

(D) Sterary uf¥ader 3R Icarcet

ofial o a1u fraseul 3 A A8 IR @I <RI6T HifsTU :
(1) @ae (A) siiz (B)
(2) @aa (A) siiz (C)
(3) @ae (B) siiz (C)
(4) @ac (B) siiz (D)

[Question ID = 1251][Question Description = Q48_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5001]
2.2

[Option ID = 5002]
3.3

[Option ID = 5003]
4. 4

[Option ID = 5004]
49) According to Candy; Which of the following are the characteristics of autonomy of learners?

(A) Exercise freedom of choice and action

(B) Monitoring by learner

(C) Have self-mastery

(D) Follow goals and objectives

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (C) only

DI D IIRIR forsifeiRaa 3 A dlor AT sifEREIEal H Farrar 6 faduand 3?7

(A) gotra 3iR g & Faddgar oI mRIRT
(B) sif2emredaisii SR sregfdaut

(C) zaydiur gon

(D) c1g=1 3ii=r 329l I 3oIoTeol



il 3w a1 fraseul 3 A FGA IUYTP IaR DI WRIol HifsTe :
(1) e (A) iz (B)
(2) @aer (B) afiz (C)
(3) @ae (C) siiz (D)
(4) @aer (A) iz (C)

[Question ID = 1252][Question Description = Q49_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5005]
2.2

[Option ID = 5006]
3.3

[Option ID = 5007]
4. 4

[Option ID = 5008]
50) Vocational education is for

(A) Manual work

(B) Livelihood

(C) Occupational knowledge
(D) Researcher worker

Choose the most appropriate answer from the options given below:
(1) (D), (C) and (A) only

(2) (B), (C) and (D) only

(3) (A) and (B) only

(4) (A), (B) and (C) only

rraATRIa forgmm 3 -

(A) sFams @ ferg

(B) sisfifert @ ferg

(C) U91aR / caARis st @ fore
(D) oiter orf & forw

sifa fou s1u fapeul 3 A AR IWIP IR PI RIel HifSte :

(1) @ae (D), (C) siiz (A)

(2) @ae (B), (C) sz (D)

(3) @ae (A) sii (B)

(4) @aa (A), (B) aiz (C)

[Question ID = 1253][Question Description = Q50_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5009]
2.2

[Option ID = 5010]
3.3

[Option ID = 5011]
4. 4

[Option ID = 5012]

51) Arrange the following different levels of competence have been designed in National Vocational qualifications in order
to sequencial manner.

(A) Responsibility and autonomy of individual work activities
(B) Complex technical and specialized professional activities
(C) Apply fundamental principles and techniques

(D) Complex skilled performance of activities

(E) Performance of routine and predictable work activities



Choose the correct answer from the options given below :

(1) (B), (C), (A), (E), (D)
(2) (E), (A), (D), (B), (C)
(3) (E), (A), (B), (D), (C)
(4) (A), (B), (D), (C), (E)

ALHAAT D icor-feol FaRl, f168 I ARG a1l 3 a1 sRII 8, DI @ I RAfR-ed d3 :

(A) Jafoe ort sifefaffri & Rt siie Farman
(B) sifeer aweildl siiR falusiare Udar aifefaferl
(C) 511 Ragiel 3k adollpl BT IeIYRIIeT Dol

(D) siferfaferit o1 sifeet wlorerge forsurcor

(E) oWt siiz sifers Jpaas siferfaeli o1 forsurget

ofl feu a1g fawcul A A A8 a2 BI aRIol BT :

(1) (B), (C), (A), (E), (D)
(2) (E), (A), (D), (B), (C)
(3) (E), (A), (B), (D), (C)
(4) (A), (B), (D), (C), (E)

[Question ID = 1254][Question Description = Q51_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5013]
2.2

[Option ID = 5014]
3.3

[Option ID = 5015]
4. 4

[Option ID = 5016]
52) Arrange the following elements of the romantic curriculum in sequencial order

(A) Real life topics and proposals
(B) Cooperation

(C) Self-assessment

(D) Involvement

(E) Living attitudes of values

Choose the correct answer from the options given below :

(1) (©), (A), (E), (B), (D)
(2) (A), (E), (C), (B), (D)
(3) (D), (B), (A), (C), (E)
(4) (E), (A), (D), (B), (C)

el (Aifed) urgRerRIt & forrorfeiRaa dR®I @l sreapd 3 craf¥eda o3 :

(A) arfae Sfiaer @& faern siiz graa
(B) wrsdieT

(C) za-Heaiwot

(D) smdseat

(E) sfida zfReolur 3R e

ofl feu a1g fawcul A A A8 Az oI wrRIer BT :

(1) (C), (A), (E), (B), (D)
(2) (A), (E), (C), (B), (D)
(3) (D), (B), (A), (), (E)
(4) (E), (A), (D), (B), (C)
[Question ID = 1255][Question Description = Q52_AE_SHAAN_20NOV21_S1_Shift1]



1.1

[Option ID = 5017]
2.2

[Option ID = 5018]
3.3

[Option ID = 5019]
4. 4

[Option ID = 5020]
53) Broadly agreed upon components of continuing education are

(A) Continous part time education

(B) Continous full time education

(C) Not connected to vocational and nonvocational study
(D) Intermittent education

(E) Recurrent education

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C), (D) only
(2) (B), (C), (D), (E) only
(3) (A), (B), (D), (E) only
(4) (A), (C), (D), (E) only

IR dlz R Aadq forgn & fipd acd 3 ¢

(A) Jraa siormiferas forgm

(B) sraa yoimifer forgm

(C) cara=RIp 3ii= 31k RAGARID 31EMRIST A IR/
(D) siforifdre forsm

(E) gorrgfere frem
ofia f2u a1u faaseul 3 A I8 IR DI TR BRI ¢

(1) @ae (A), (B), (C), (D)
(2) @aer (B), (C), (D), (E)
(3) @ae (A), (B), (D), (E)
(4) @ae (A), (C), (D), (E)

[Question ID = 1256][Question Description = Q53_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5021]
2.2

[Option ID = 5022]
3.3

[Option ID = 5023]
4. 4

[Option ID = 5024]
54) Group Behaviour contributes for

(A) Conflict with group objectives

(B) Individual contributes to the group performance
(C) Low individual performance

(D) Identify with the group

(E) Spirit of social awareness through group activity

Choose the correct answer from the options given below :
(1) (B), (D) and (E)
(2) (A), (B) and (E)

(3) (B), (C) and (D)
(4) (C), (D) and (E)



MY aasR fepdl APIGet Sar 37

(A) 13 cagl & A1 doca

(B) suftp a1 @ Bri-forcurca 3 ARG eI 3

(C) caftpera ®ri-forcurca @I foget TR

(D) w1 D AT UDICl AGIYH Dol

(E) 21318 siferfaf?n o ATERIEI A ARSI AcToll I el

ofl feu a1g fawcul & A A8 a2 B aRIol HifSIw :

(1) @ae (B), (D) sirz (E)
(2) @aer (A), (B) siiz (E)
(3) @aer (B), (C) 3tz (D)
(4) @aa (C), (D) sirz (E)

[Question ID = 1257][Question Description = Q54_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5025]
2.2

[Option ID = 5026]
3.3

[Option ID = 5027]
4. 4

[Option ID = 5028]
55) Information education enables an individual to acquire all that education is expected to give viz.

(A) Information
(B) Knowledge
(C) Wisdom

(D) Arrogance

(E) lliteracy

Choose the correct answer from the options given below :

(1) (A), (B) and (E) only
(2) (B), (E) and (D) only
3) (A), (B), (C) only

(4) (C), (D) and (E) only

JAoIURD 181 U RAfth Dl $AD 18 AR Falieil 8 b a6 dl Aame 3ifsia o2 AD Sl P1gn & R sfda 3, o 3 -

(A) 3geromt
(B) st

(C) fa»
(D) Sn/ =a3is
(E) sramgrzar

ofld feu a1g fawcul & A A8 a2 &I aRIol BT :

(1) @aer (A), (B) siiz (E)
(2) @aer (B), (E) siz (D)
(3) @aet (A), (B), (C)

(4) @aer (C), (D) iz (E)

[Question ID = 1258][Question Description = Q55_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5029]
2.2

[Option ID = 5030]
3.3

[Option ID = 5031]
4. 4



[Option ID = 5032]
56) Thorndike developed laws of learning that are:

(A) The law of re-enforcement
(B) The law of effect

(C) The law of readiness

(D) The law of motivation

(E) The laws of exercise

Choose the correct answer from the options given below :

(1) (A), (B) and (E) only
(2) (B), (C) and (E) only
(3) (C), (D) and (B) only
(4) (D), (B) and (C) only

eroisIsd GRI faalRa siféera & formar 3-

(A) gactat @1 formet
(B) gsira o1 format
(C) acuzar o1 forpI

(D) aif3rut b1 format
(E) 3131121 b1 forrar

ofix f3U 1w fameul A A A8l Iz B oRIal HIfSIU

(1) @ae (A), (B) sirz (E)
(2) @ae (B), (C) siz (E)
(3) @ae (C), (D) sz (B)
(4) @aer (D), (B) sz (C)

[Question ID = 1259][Question Description = Q56_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5033]
2.2

[Option ID = 5034]
3.3

[Option ID = 5035]
4. 4

[Option ID = 5036]
57) Which of the following are the approaches to distance learning?

(A) The multiple media model

(B) The classroom based learning model

(C) The correspondence education model

(D) The teacher centric learning model

(E) The network based distance education model

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only
(2) (C), (D) and (E) only
(3) (A), (C) and (E) only
(4) (B), (C) and (D) only

forgot 31 A Dlol-A ggeer 91811 @ IUPHE 37

(A) ag a3 diiser
(B) wen-3menfya forem disca

(C) uqgrar forgn Jfser

(D) Rrgra>-aiger g siiser

(E) otcaas smenfea gz forgm gfafer



sifal fou o1e faeul 3 A AT IWRYTP IaR DI RIel HIfSte :

(1) @aer (A), (B) siiz (C)
(2) @aer (C), (D) sz (E)
(3) @ae (A), (C) sz (E)
(4) @ae (B), (C) stz (D)

[Question ID = 1260][Question Description = Q57_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5037]
2.2

[Option ID = 5038]
3.3

[Option ID = 5039]
4. 4

[Option ID = 5040]
58) Types of computer networks include

(A) Local Area Network (LAN)
(B) Metro Area Network (MAN)
(C) Wide Area Network (WAN)
(D) Internet

(E) Wireless Area Network (WAN)

Choose the correct answer from the options given below :

(1) (A), (B), (D), (E) only
(2) (B), (C), (D), (E) only
(3) (A), (B), (C), (D) only
(4) (A), (C), (D), (E) only

BRIC? olcadt & YRl 3 onfiret 3
(A) clrever of¥n sleaas (clor)

(B) 3<) uf¥=m ofeaas (Star)

(C) arss uhxa oleaas (Jo)

(D) Sevoie

(E) arrzci ef¥an sicads (do)

ofld f&u s1u faascul d A A8l 3az I oIl BIfSIE &

(1) @aet (A), (B), (D), (E)
(2) @aa (B), (C), (D), (E)
(3) @aa (A), (B), (C), (D)
(4) @aa (A), (C), (D), (E)

[Question ID = 1261][Question Description = Q58_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5041]
2.2

[Option ID = 5042]
3.3

[Option ID = 5043]
4. 4

[Option ID = 5044]
59) What are the types of assessment?

(A) Self

(B) Summative
(C) Formative
(D) Synthetic



(E) Exploratory
Choose the correct answer from the options given below :

(1) (C), (D), and (E) only
(2) (A), (B), and (C) only
(3) (D), (E), and (A) only
(4) (B), (C), and (D) only

Jeaforerzor & YR o= 37

(A) za=

(B) Ji®cteicaas
(C) zactcas
(D) Riafew

(E) srcauvncaas

ofld f2u s1u faacul # A A8t Az I aRIoT HIfSIe &

(1) @aa (C), (D) sirz (E)
(2) @ae (A), (B) siiz (C)
(3) @ae (D), (E) siiz (A)
(4) @aer (B), (C) siz (D)

[Question ID = 1262][Question Description = Q59_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5045]
2.2

[Option ID = 5046]
3.3

[Option ID = 5047]
4. 4

[Option ID = 5048]
60) What are the general principles in selecting the learning experience?

(A) Scientific teaching approaches

(B) An opportunity to practice

(C) Experiences bring about several out comes
(D) Satisfactions

(E) Systematic Evaluations

Choose the correct answer from the options given below :

(1) (A), (B), and (C) only
(2) (C), (D), and (E) only
(3) (A), (D), and (C) only
(4) (B), (C), and (D) only

forgror srepera @ arRIer 3 R Rigia o= 37

(A) dsmfore forgrur sifderer

(B) caaea @m0l I ARR

(C) sroperdl @ D% gpR @ Ul Bl 3
(D) daw

(E) =raf¥era gcaicot

ofiY f3u 1w fameul A A A8 Iaz B oRIel HIfSIU

(1) @aet (A), (B) siiz (C)
(2) @ae (C), (D) siiz (E)



(3) @ae (A), (D) siz (C)
(4) @ae (B), (C) 3tz (D)

[Question ID = 1263][Question Description = Q60_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5049]
2.2

[Option ID = 5050]
3.3

[Option ID = 5051]
4. 4

[Option ID = 5052]
61) The objectives of Rashtriya Kishor Swasthya Karyakam include

(A) Improve nutrition

(B) Enable sexual and reproductive health
(C) Provide vocational skills to adolescents
(D) Prevent injuries and violence

(E) Enhance the oratory skills of youth

Choose the correct answer from the options given below :

(1) (A), (B), (D) only
(2) (A), (C), (D) only
(3) (B), (D), (E) only
(4) (B), (C), (E) only

IR fpoNe Farred GRidga & 3291 A Afdafera 3:

(A) diyur & e croln

(B) it 3iiz Yslold FaReA 3 AT YgIol Dol
(C) Rp9IRI DI ATaRIIRID BI9reT YgIol dall
(D) 3mmara siiz &1 @1 forarur

(E) gao / gaferil @ amea ol 3 iftigls

ofld feu a1g famcul A A A8 a2 oI wRIol BT :

(1) @aet (A), (B), (D)
(2) @ae (A), (C), (D)
(3) @ae (B), (D), (E)
(4) @ae (B), (C), (E)

[Question ID = 1264][Question Description = Q61_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5053]
2.2

[Option ID = 5054]
3.3

[Option ID = 5055]
4. 4

[Option ID = 5056]
62) ldentify from following, target specific programme initiated under National Literacy Mission:
(A) Equalency Programme
(B) Rural Functional Literacy Programme
(C) Individual Interest Programme
(D) Income Generating Programme
(E) State Functional Literacy Programme

Choose the most appropriate answer from the options given below :

(1) (A), (D) and (E) only



(2) (B), (C) and (E) only
(3) (B), (D) and (E) only
(4) (A), (€) and (D) only

foraot 3 3 IASERT AT 96T @ 3iceia 95 b= SR cga-dia drRiaw B usarfere:

(A) saRciRil origa

(B) sqmefivr ybRItcas A1GRAT BRIGH
(C) caftpera i drRiae

(D) 3 Scurcd BRI

(E) 571 yorifcaed ATgRaRT

ofld f2u s1u faacul d A A8 3az I arRIol BT &

(1) @aer (A), (D) 3tz (E)
(2) @ae (B), (C) 3t (E)
(3) @aa (B), (D) sirz (E)
(4) @aa (A), (C) sirz (D)

[Question ID = 1265][Question Description = Q62_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5057]
2.2

[Option ID = 5058]
3.3

[Option ID = 5059]
4. 4

[Option ID = 5060]
63) Higher education includes:

(A) Tertiary, third stage

(B) Senior Secondary Education
(C) Post Secondary Education
(D) Junior Colleges

(E) Secondary Education

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (B) and (D) only
(3) (C) and (E) only
(4) (A) and (B) only

I 191811 I 3iiR fop= GIdt A YR Sirar 8?7

(A) gefir, di=RiRr aRur
(B) afre smefdias fOrgm
(C) SmR-ameafd forem
(D) wforss wicrst
(E) ameafdren fArsm

sifa fou s1e faeul 3 A AT IWIP IAR DI RI6l HIfSte :

(1) @ae (A) siiz (C)
(2) @aer (B) stz (D)
(3) @ae (C) aiiz (E)
(4) @aer (A) siiz (B)

[Question ID = 1266][Question Description = Q63_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5061]
2.2



[Option ID = 5062]
3.3

[Option ID = 5063]
4. 4

[Option ID = 5064]
64) Which of the following are the sources of primary data

(A) Intercept interview
(B) Cognative pretesting
(C) New papers

(D) Reports

(E) Web sites

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (A) and (B) only
(3) (C) and (D) only
(4) (D) and (E) only

forgotferRaa 3 A ol AT Yrerfdras 3iids @1 Ja 8 -

(A) RIEIB ATGICDR
(B) istoaae gd usigior
(C) warar uqg

(D) feuré

(E) asarsca

ofi f3u a1 fameul A A A8 Iaz oI arRIel BT :

(1) @ae (A) iz (C)
(2) aer (A) iz (B)
(3) @aer (C) siiz (D)
(4) @aer (D) iz (E)

[Question ID = 1267][Question Description = Q64_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5065]
2.2

[Option ID = 5066]
3.3

[Option ID = 5067]
4. 4

[Option ID = 5068]
65) National Education Policy 2020 views which of the following as basic rights of every citizen

(A) Education

(B) Livelihood

(C) Vocational training
(D) Foundational literacy
(E) Economic literacy

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only  (2) (B), (C) and (D) only
(3) (A), (B) and (D) only  (4) (C), (D) and (E) only

IsciRr oftgr 2020 shifer forgat 3 A fpA uR® otEI¥es @1 JHifcre sifererR amerd 3?7

(A) forem

(B) sirshiferast

(C) =g ufssmor
(D) semRuzes AT



(E) snfefes wmgrzar

(1) act (A), (B) afiz (C) (2) @aa (B), (C) 3iiz (D)

(3) ®act (A), (B) aiiz (D) (4) dac (C), (D) iz (E)

[Question ID = 1268][Question Description = Q65_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5069]
2.2

[Option ID = 5070]
3.3

[Option ID = 5071]
4. 4

[Option ID = 5072]

66) Match List | with List Il

List | List 1l
(A) Swami Vivekananda ) Pedagogy of the oppressed
(B) Mahatma Gandhi ()  Active Communion with nature
(C) Rabindranath Tagore (lll) Character formation
(D) Freire (IV) Nai Taleem

Choose the correct answer from the options given below
(1 (A)-(1m, (B)-(IV), (C)-(11), (D)-(1)

(2)  (A)-(), (B)-(1n), (C)-(1V), (D)-(1)

(3)  (A)-(), (B)-(IV), (C)-(l), (D)-(1)

(4)  (A)-(D, (B)-(lin), (C)-(IV), (D)-(IN)

Ieft-1 & mrer 3fi-11 o1 Bierrer Hifsre :

rehi-1 xt-1
(A) vauil fRdwreic (I)  Scdifyal o fdrgmomeg
(B)  ararcam aifeft () gefer @ amer anfer 2igwor
(C)  dlogore oMz () afsq Brafor

(D) w (IV) &g archia

oifa 3 a1e frpeul 3 A1 &l IR @I w16t hifSte
(1) (A)-(1n), (B)-(1V), (C)-(I1), (D)-(1)
(2)  (A)-(I, (B)-(llN), (C)-(1V), (D)-(1)
(3)  (A)-(I, (B)-(IV), (C)-(lin), (D)-(1)
(4)  (A)-(D, (B)-(1), (C)-(1V), (D)-(1N)

[Question ID = 1269][Question Description = Q66_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5073]
2.2

[Option ID = 5074]
3.3

[Option ID = 5075]
4. 4

[Option ID = 5076]

67) Match List | with List Il

List | List Il
(A) Extension (I)  Application Technology of
Education
(B) CAL () Literacy and Numeracy

(C) JSS (Ill) Third dimension of university



(D) TLC (IV) Vocational skills
Choose the correct answer from the options give below:
(1) (A)-(1m, (B)-(I), (C)-(1V), (D)-(1)
(2)  (A)-(), (B)-(1n), (C)-(1), (D)-(IV)
(3) (A=, (B)-(ln), (C)-(1V), (D)-(1)
(4)  (A)-(1m), (B)-(1), (C)-(IV), (D)-(I)
Jelt-1 & arer A=l o1 fretrer Hifsrg :

i1 il
(A)  gur () forgm 6 srqqyeieT Genfircbt
(B) =Mtwua () 8RRl 3R A=IDol

(C) Sicauwa ()  Rreafercrr o1 iz sEmr
(D) @& vazh (IV) caanRs ®iera

il fou o1 frpeul 9 A & IR DI TRI6l HIfSIE ¢
(1) (A)-(1m, (B)-(I), (C)-(IV), (D)-(1)
(2)  (A)-(), (B)-(), (C)-(1), (D)-(IV)
(3)  (A)-(m), (B)-(1n), (C)-(1V), (D)-(1)
(4)  (A)-(lm), (B)-(D, (C)-(1V), (D)-(I)

[Question ID = 1270][Question Description = Q67_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5077]
2.2

[Option ID = 5078]
3.3

[Option ID = 5079]
4. 4

[Option ID = 5080]

68) Match List | with List Il

List | List Il
(A) The Open University () Iran
(B) Everyman University () Israil
(C) Free University (1 Japan
(D) University of the Air (Iv) UK

Choose the correct answer from the options give below:
(1 (A)-(D, (B)-(ID), (C)-(li), (D)-(IV)

(2)  (A)-(1m, (B)-(I), (C)-(1), (D)-(IV)

(3) (A=, (B)-(ln), (C)-(1V), (D)-(1)

(4)  (A)-(V), (B)-(I), (C)-(1), (D)-(lI)

Jelt-1 & arer Y-l o1 fretrer Hifsre :

il -l
(A) R siuer JRraffé () &
(B) vasidior yforafRfa (1)  sswrE
(C) u AforalRict ()  smarer
(D) YRraRfA e & wrz () g

il fou o1 frpeul 3 A & IR BT TI6l HIfSIE ¢
(1 (A)-(D, (B)-(I), (C)-(li), (D)-(IV)
(2)  (A)-(1m, (B)-(I), (C)-(1), (D)-(IV)
(3)  (A)-(), (B)-(1n), (C)-(1V), (D)-(1)
(4)  (A)-(IV), (B)-(ID), (C)-(D, (D)-(1IM)



[Question ID = 1271][Question Description = Q68_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5081]
2.2

[Option ID = 5082]
3.3

[Option ID = 5083]
4. 4

[Option ID = 5084]

69) Match List | with List Il

List | List Il
(A) Mass Approach ) DPEP
(B) The Selective Approach (n TLC
(C) Area Based Approach (1) NAEP
(D) Centre Based Approach (IV) FFLP

Choose the correct answer from the options give below:
(1) (A)-(v), (B)-(), (C)-(1), (D)-(1)

(2) (A=), (B)-(IV), (C)-(1), (D)-(lln)

3)  (A)-(), (B)-(h, (C)-(li), (D)-(IV)

(4)  (A)-(1m), (B)-(I), (C)-(1), (D)-(IV)

Jeft-1 & arer -1l o1 fretrer B :

el Sl
(A) o () Sdsd
(B) R AdRrca oqa () &cash
(C) cfvn azs wqia () woru$dt
(D) 3icz AT WG (IV) oo ow wer ot

ofial o a1u feraeul 3 A A8 IR @I RI6T HiIfdTE :
(1 (A)-(V), (B)-(l), (C)-(1), (D)-(1)
(2)  (A)-(), (B)-(1V), (C)-(1), (D)-(lI)
(3)  (A)-(I, (B)-(1), (C)-(In), (D)-(IV)
(4)  (A)-(lm), (B)-(I1), (C)-(1), (D)-(IV)

[Question ID = 1272][Question Description = Q69_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5085]
2.2

[Option ID = 5086]
3.3

[Option ID = 5087]
4. 4

[Option ID = 5088]

70) Match List | with List I

List | List Il
(A) The mature mind 0] Knowles (1950)
(B) Informal Adult Education (I1) Bruner (1959)

(C) An overview of Adult Education

Research (1 Kidd (1973)

(D) How Adult learn (IV) Harry Overstreets (1949)

Choose the correct answer from the options give below:

(1 (A)-(D, (B)-(I), (C)-(IV), (D)-(li)



(2)  (A)-(IV), (B)-(D), (C)-(11), (D)-(lIn)
(3)  (A)-(1n), (B)-(IV), (C)-(), (D)-(1N)
(4) (A=, (B)-(1), (C)-(ln), (D)-(IV)

Jeft-1 & arer -1 o1 fretrer Hifsre :

el -l
(A) R dcir aEs (I)  oaca (1950)
(B) somowicr usce wgdrer () @iz (1959)

(C) o aitaeesy TG ST UopdereT rart () Rs (1973)

(D) &I usce ot (IV) 3% shazeeficar (1949)

oifa fou s1e frpeul 3 A A IR DI TI6T HIfSIE ¢
(1) (A)-(, (B)-(I), (C)-(IV), (D)-(lln)
(2)  (A)-(V), (B)-(D), (C)-(In), (D)-(lIn)
(3)  (A)-(1n), (B)-(1V), (C)-(), (D)-(1N)
(4)  (A)-(I, (B)-(1), (C)-(ln), (D)-(IV)

[Question ID = 1273][Question Description = Q70_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5089]
2.2

[Option ID = 5090]
3.3

[Option ID = 5091]
4. 4

[Option ID = 5092]

71) Match List | with List Il

List | List Il
(A) Recapitulation ) Thorndike
(B) Connetionism () Dewey
(C) Pragmatism 1y  Judd
(D) Functionalism (IV) Hull

Choose the correct answer from the options give below:
(1 (A)-(D, (B)-(I)), (C)-(li), (D)-(IV)

(2)  (A)-(V), (B)-(1), (C)-(1), (D)-(lI1)

(3)  (A)-(1m, (B)-(I), (C)-(1), (D)-(IV)

(4)  (A)-(IV), (B)-(I), (C)-(1), (D)-(l)

Jeft-1 & arer -1 o1 fretrer Hifsrg :

- el
(A)  yorrader (1)  dicfsse
(B)  iiSTorars m sz
(C) wyasrRa (ny s
(D)  ywriarg (V) za

oifa fou o1 frpeul 3 A Il IR BT a6l HIfSIE ¢
(1) (A)-(D, (B)-(I), (C)-(l1), (D)-(IV)
(2)  (A)-(IV), (B)-(D), (C)-(11), (D)-(lIn)
(3)  (A)-(1n, (B)-(I1), (C)-(1), (D)-(IV)
(4)  (A)-(V), (B)-(I), (C)-(1), (D)-(ll)

[Question ID = 1274][Question Description = Q71_AE_SHAAN_20NOV21_S1_Shift1]
1.1



[Option ID = 5093]
2.2

[Option ID = 5094]
3.3

[Option ID = 5095]
4. 4

[Option ID = 5096]

72) Match List | with List Il

List | List Il
(A) School Chalein Hum () Polio eradication compaign
(B) Bell Bajao (Il) Corona pandemic
(C) Ek Boond Zindagi ki (Ill) Sarv Shiksha Abhiyaan

(D) Jab Tak Dawai nahin, tab tak
Dhilai Nahin

(IV) Domestic Violence
Choose the correct answer from the options give below:

(1 (A)-(1m, (B)-(I), (C)-(1V), (D)-(1)

(2)  (A)-(1m), (B)-(IV), (C)-(), (D)-(IN)

(3)  (A)-(), (B)-(1), (C)-(1V), (D)-(1)

(4)  (A)-(V), (B)-(ln), (C)-(1), (D)-(In)

ft-1 & 2mer A1 @1 Brerrer Hifdre :

i1 il
(A) @e Tci sa ) diferl Sodictol IfRIeT
(B) et st (1)  Bror AeEnd
(C) uw & Riceht HI (1) axdfren sfrmer
(D) S aw® cars oidl ad ad fecrs o (IV) =¥ B

ofi<l fou a1 ferpeul 31 A A8 IR @I TRIGT DI :
(1) (A)-(lm), (B)-(1N), (C)-(1V), (D)-(1)
(2)  (A)-(1n), (B)-(IV), (C)-(), (D)-(1N)
(3)  (A)-(m), (B)-(1n), (C)-(1V), (D)-(1)
(4)  (A)-(V), (B)-(lln), (C)-(1), (D)-(IN)

[Question ID = 1275][Question Description = Q72_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5097]
2.2

[Option ID = 5098]
3.3

[Option ID = 5099]
4. 4

[Option ID = 5100]

73) Match List | with List Il
List | List Il

(I)  Ministry of Social Justice

A) MGNREGA
A) and Empowerment

(B) NSTFDC (1)  Ministry of Tribal Welfare

(€) NSFDC (Ill) Ministry of Minority Development
Corporation

(D) NMFDC (IV) Ministry of Rural Development

Choose the correct answer from the options give below:
(1) (A)-(n), (B)-(IV), (C)-(1), (D)-(1)
(2)  (A)-(D, (B)-(IN), (C)-(1V), (D)-(1N)



(3)  (A)-(1V), (B)-(I), (C)-(1), (D)-(lI1)
(4)  (A)-(1V), (B)-(l), (C)-(), (D)-(In)
Jeft-1 & arer -1 o1 frerrer Hifsre :

| -l

(A)  aordem () =R sarT 3R ASPIR AGreRT
(B) ot uar & uw & 2 (Il)  Srormei TeamT FqreRT

(€) o var ww & 3 (l)  arcusizres R Beon siger
(D)  vor var uw &t 2t (V) ayitor Ryt sigrern

sifa fou s1e frpeul 9 A A IR DI w6l HISIE ¢
(1) (A)-(I), (B)-(IV), (C)-(lin), (D)-(1)
(2)  (A)-(D, (B)-(I), (C)-(IV), (D)-(lln)
(3)  (A)-(IV), (B)-(In), (C)-(1), (D)-(ll)
(4)  (A)-(V), (B)-(11), (C)-(), (D)-(1N)

[Question ID = 1276][Question Description = Q73_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5101]
2.2

[Option ID = 5102]
3.3

[Option ID = 5103]
4. 4

[Option ID = 5104]

74) Match List | with List Il

List | List Il
(A) Deductive; test theory 0) Design
(B) Uses standardized instruments ()  Purpose

(C) To study relationships, cause and
effect

(1) Approach
(D) Developed prior to study (IV) Tools

Codes:

(1 (A)-(), (B)-(1), (C)-(1), (D)-(IV)

(2)  (A)-(D, (B)-(lin), (C)-(I), (D)-(IV)

(3)  (A)-(I, (B)-(IV), (C)-(1), (D)-(1)

(4)  (A)-(1n), (B)-(1V), (C)-(I), (D)-(1)

Jeft-1 & arer -1l o1 frerrer Hifsre :

-l f-1l
(A) foPEEIca®; ufien Brgia ()  fSomser
(B) wmorbiaza ULl BT GRIPT BIAT 3 Iy aga
;i)ﬁ[ Jdell ud PRIGRT Jdell DI 3ERIeT (Il sifim
(D) < A gd Rwlia (IV) Surcet

off<r fou a1 ferpeul 31 A A8 IR @I <RI HIRME :

(1 (A)-(), (B)-(1), (C)-(1), (D)-(IV)

(2)  (A)-(D, (B)-(lin), (C)-(I), (D)-(IV)

3)  (A)-(), (B)-(1V), (C)-(l), (D)-(1)

(4)  (A)-(1m), (B)-(IV), (C)-(11), (D)-(1)

[Question ID = 1277][Question Description = Q74_AE_SHAAN_20NOV21_S1_Shift1]



1.1

[Option ID = 5105]
2.2

[Option ID = 5106]
3.3

[Option ID = 5107]
4. 4

[Option ID = 5108]

75) Match List | with List Il
List | List Il
(A) Devid Kolb ) Communities of practice
(B) Etienne Wenger () Cognitive development
(C) Knud llleris (lll) Experiential Learning
(D) Jean Piaget (IV) Three Dimensions of learning
Codes:

(1) (A)-(D, (B)-(IN), (C)-(1V), (D)-(IN)
(2)  (A)-(m), (B)-(IV), (C)-(1m), (D)-(1)
(3)  (A)-(ln), (B)-(1), (C)-(1V), (D)-(I)
(4)  (A)-(V), (B)-(I1), (C)-(1), (D)-(1)
Feft-1 & arer 31l o1 Bretror e

prcid| e idll
0] RIAER D WIGKI (DHRIfoIEST 3
A) 3fas @lca = <
(A) 3ftrezr)
(B) wufeet dsr () <istencas faerRT (Bifderdla Sacudic)
(C) o3 saiza ()  grNPrp 3MEEI (FarTuidced cfofor)
(IV) siféera & dier semar (eff srsdteret sife
(D) Sie frmst o)

offa fou a1 frpeul 3 A & IR DI a6l HISIE ¢
(1) (A)-(D, (B)-(1), (C)-(1V), (D)-(1N)
(2)  (A)-(I, (B)-(IV), (C)-(lin), (D)-(1)
(3)  (A)-(1n, (B)-(1), (C)-(1V), (D)-(1N)
(4)  (A)-(IV), (B)-(I), (C)-(1), (D)-(lI)

[Question ID = 1278][Question Description = Q75_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5109]
2.2

[Option ID = 5110]
3.3

[Option ID = 5111]
4. 4

[Option ID = 5112]
76) Arrange the following developmental programmes in order these were started :

(A) Sakshar Bharat

(B) National Extension service

(C) National Adult Education programme
(D) Community Development programme
(E) National literacy mission

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C), (E) (2) (B), (C), (A), (D), (E)
(3) (©), (A), (D), (B), (E) (4) (D), (B), (C), (E), (A)



forgsiferRaa famrRIIcH® BRI B IoId AR BT Siel B @i i craf¥ea &ifs :

(A) merR R

(B) 2rsgier g1z Aar

(C) = g 1181 DrRiadt
(D) AmIeiRIes fapRT BRI
(E) s mgran frorer

ofld feu a1g famcul A A A8 a2 &I wrRIoTl B :

(1) (A), (B), (D), (C), (E)  (2) (B), (C), (A), (D), (E)
(3) (©), (A), (D), (B), (E)  (4) (D), (B), (C), (E), (A)

[Question ID = 1279][Question Description = Q76_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5113]
2.2

[Option ID = 5114]
3.3

[Option ID = 5115]
4. 4

[Option ID = 5116]
77) Arrange the following for starting Adult Education centre :

(A) Aquiring teaching learning material
(B) Infrastructure physical facilities

(C) Survey of location

(D) Selection of the venue

(E) Initiation of teaching

Choose the correct answer from the options given below

(1) (©), (D), (B), (A), (E)
(2) (D), (C), (B), (A), (E)
(3) (©), (D), (A), (E), (B)
(4) (B), (C), (A), (E), (D)

Gl forei dogl 6 Feruon @ fere fowafeRaa o1 aurag Hifsto :

(A) fargrur 3ifdErEr AWEY nfsia wen
(B) siiferes gferenaii b1 smerRega et
(C) erret o1 AdgI0T

(D) fargrot @1 3R

ofi f3u a1u faweul A A A8 Iaz oI orRIel HIfSIU :

(1) (©), (D), (B), (A), (E)
(2) (D), (C), (B), (A), (E)
(3) (©), (D), (A), (E), (B)
(4) (B), (C), (A), (E), (D)

[Question ID = 1280][Question Description = Q77_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5117]
2.2

[Option ID = 5118]
3.3

[Option ID = 5119]
4. 4

[Option ID = 5120]

78) Identify the features of a good research design



(A) Flexible

(B) Long duration
(C) Inconsistency
(D) Efficient

(E) Economical

Choose the correct answer from the options given below
(1) (A), (B) and (E) only
(2) (A), (C) and (E) only
(3) (A), (C) and (D) only
(4) (A), (D) and (E) only

I 3fopeNel sifdtapcustt b ferdrudrsii @l Rifada @3 :

(A) erficht
(B) Sredmifers
(C) Zaiora
(D) origora
(E) fopwrrcht

ofix f3u 1w fameul A A A8 Iz oI TRIal HIfSIU

(1) @ae (A), (B) sirz (E)
(2) @ae (A), (C) sirz (E)
(3) @aet (A), (C) siiz (D)
(4) @aet (A), (D) siiz (E)

[Question ID = 1281][Question Description = Q78_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5121]
2.2

[Option ID = 5122]
3.3

[Option ID = 5123]
4. 4

[Option ID = 5124]
79) Who is the father of demography?

(1) John Grant (2) Cary Grant
(3) John Cena (4) John Lewis

StorAiReIbY @I SIotdd fabAY dar STrdr 87

(1) Sifer agic (2) && 9pic
(3) sifer ot~ (4) sifer A

[Question ID = 1282][Question Description = Q79_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5125]
2.2

[Option ID = 5126]
3.3

[Option ID = 5127]
4. 4

[Option ID = 5128]
80) SCERT means

(1) Society for Continuing Educational Research and Training
(2) Special Commission of Educational Research and Training
(3) State Commission of Educational Research and Training

(4) State Council of Educational Research and Training



SCERT (w1 =it § 3= &) o1 aref

(1) rera fore sropienet 3iiz gfdrgor AR

(2) forer sropRienot 3iiz yfdrgr Fdelt fadra suRiler
(3) forem sreienel 3iiR gforeiur Jdell A SRIST
(4) s ifdre srepRient iR gfdremr ursiug

[Question ID = 1283][Question Description = Q80_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5129]
2.2

[Option ID = 5130]
3.3

[Option ID = 5131]
4. 4

[Option ID = 5132]
81) Arrange the following elements of the classical curriculum in order of sequencial maner

(A) Didactic instruction
(B) Objectives

(C) Evaluation

(D) Content

Choose the correct answer from the options given below

(1) (A), (B), (C), (D)
(2) (B), (D), (C), (A)
(3) (D), (A), (B), (C)
(4) (B), (D), (A), (C)

IR UIgIpH @ fordal dcdl Bl HAHGRIR Rrafyerd HifSre :

(A) UMD 3MGIGT
(B) 3g9u
(C) Freriavor

(D) ferrRazqg

ofl feu a1g fameul A A A8 Iaz &I aRIer BT :

(1) (A), (B), (C), (D)
(2) (B), (D), (C), (A)
(3) (D), (A), (B), (C)
(4) (B), (D), (A), (C)

[Question ID = 1284][Question Description = Q81_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5133]
2.2

[Option ID = 5134]
3.3

[Option ID = 5135]
4. 4

[Option ID = 5136]
82) Arrange the following needs in order to Maslow’s hierarchy of needs

(A) Physiological

(B) Love and Belonging
(C) Safety

(D) Self esteem



(E) Self Actualization
Choose the correct answer from the options given below

(1) (C), (B), (D), (A), (E)  (2) (A), (B), (C), (D), (E)
(3) (E), (©), (B), (A), (D)  (4) (A), (C), (B), (D), (E)

¥l &bt smagadar Aurferdl @ smemR Uz forgoifeiRaa smagaamdansil &l wraf¥-era Hifsie :

(A) onfifras Feell
(B) 9@t 3ii= srgeica

(C) w2
(D) strea 39101

(E) sreat geaghiaszor
ofi f3U a1 fameul A A A8 Ia2 oI oRIel BT

(1) (C), (B), (D), (A), (E)  (2) (A), (B), (C), (D), (E)
(3) (E), (C), (B), (A), (D)  (4) (A), (C), (B), (D), (E)

[Question ID = 1285][Question Description = Q82_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5137]
2.2

[Option ID = 5138]
3.3

[Option ID = 5139]
4. 4

[Option ID = 5140]
83) Arrange the following steps in order to intreprete coefficient

(A) A one-unit increase in the independent variable means going from the reference category to the indicator category

(B) Identify the indicator category
(C) The coefficient B the difference on average between the indicator and reference category of the dependent variable

(D) Identify the dependant variable and its units
(E) Identify the reference category

Choose the correct answer from the options given below

(1) (E), (A), (B), (C), (D)  (2) (B), (C), (D), (A), (E)
(3) (B), (E), (A), (D), (C)  (4) (A), (C), (B), (D), (E)

3quTich I uf¥sfia o arct aRvil @l UleRIR Iaf¥erd dhifsg

(A) T U SIS DT T TR D WU i geot @I 3ref 3 st Yol A Jaw Yot 3 swon
(B) ziddam 9)uft &I usarar Hifste

(C) 3pricn siizd »u A forske TR & Jaw iR e Yuft D dia v iR 3

(D) forslz @R 3iR sIhl spIseIl bl usare Hifsre

(E) 3icef 9)uft &t usarer Hifse

ofld feu a1g fawcul A A A8 a2 &I aRIel BT :

(1) (E), (A), (B), (C), (D)  (2) (B), (C), (D), (A), (E)
(3) (B), (E), (A), (D), (C)  (4) (A), (C), (B), (D), (E)

[Question ID = 1286][Question Description = Q83_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5141]
2.2

[Option ID = 5142]
3.3

[Option ID = 5143]
4. 4

[Option ID = 5144]

84) Arrange the following tasks for collecting the data



(A) Identifying the Tangent

(B) Collecting sensitive items
(C) Quantifying the information
(D) Finalizing the tool

(E) Canvasing the tool

Choose the correct answer from the options given below

(1) (A), (B), (C), (D), (E)
(2) (A), (B), (C), (E), (D)
(3) (A), (B), (D), (E), (C)
(4) (C), (D), (E), (A), (B)

3ifeps wase] Dol 3q foldol I caaf¥erd difste :

(A) ESic & usarel wel

(B) 3rciferst <K 1 wabe) Bl
(C) zromsii @1 ufeaOrT oo
(D) Suas2ur @Y siferar U Jelr
(E) Sums2ut &I Yyar @

ofld f2u s1u faascul d A A8t Iaz I aRIol BIfSIT &

(1) (A), (B), (C), (D), (E)
(2) (A), (B), (C), (E), (D)
(3) (A), (B), (D), (E), (C)
(4) (©), (D), (E), (A), (B)

[Question ID = 1287][Question Description = Q84_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5145]
2.2

[Option ID = 5146]
3.3

[Option ID = 5147]
4. 4

[Option ID = 5148]
85) Arrange the following in order to a learning cycle

(A) Agencies of transmission sending data about global/local culture

(B) Individual integrates learning into biography and may act on outcomes
(C) Person receives and processes data

(D) Global local culture changing at varying speeds

Choose the correct answer from the options given below
(1) (D), (A), (C), (B)
(2) (A), (), (D), (B)
(3) (B), (A), (D), (C)
(4) (C), (D), (B), (A)

forgoiferRaa ol PRI aay & U d craf¥ed Hifse :

(A) dRgo/Farefir FFamfer A g lids Hslol arcl AT

(B) cafep sif2emr @i Sitael af¥d A Sili:sd 3 3k alRvmddl U ®eI @2 ADd 3
(C) cafp siips gra @ 2 3z YRizmor o 3

(D) afaws / ersiir dvapfer Brel-fer s1ferd 2 ufaffa a1 &t 3

ofld f2u s1u faacul d A A8l 3az @I aRIol BIfSIe &

(1) (D), (A), (C), (B)



(2) (A), (©), (D), (B)
(3) (B), (A), (D), (C)
(4) (C), (D), (B), (A)

[Question ID = 1288][Question Description = Q85_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5149]
2.2

[Option ID = 5150]
3.3

[Option ID = 5151]
4. 4

[Option ID = 5152]
86) Arrange stages of memory processing in correct sequence

(A) Storage
(B) Process
(C) Retrieval
(D) Encoding

Choose the correct answer from the options given below
(1) (B), (C), (A), (D)
(2) (A), (B), (C), (D)
(3) (D), (B), (A), (C)

(4) (D), (A), (B), (C)

Ffer YzenuT & TRVl I A @It A cPIET:

(A) sisrur
(B) gfpamr
(C) Suz=isiar
(D) ®rEtmur

ofld f2u s1u faascul d A A8t Iaz BT Il BIfSIY &

(1) (B), (C), (A), (D)
(2) (A), (B), (C), (D)
(3) (D), (B), (A), (C)
(4) (D), (A), (B), (C)

[Question ID = 1289][Question Description = Q86_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5153]
2.2

[Option ID = 5154]
3.3

[Option ID = 5155]
4. 4

[Option ID = 5156]

87) The stages associated with the knowledge and behaviour comprise of following. Arrange there in a sequence of their
occurrence

(A) Knowledge

(B) Group behaviour
(C) Attitude

(D) Information

(E) Behaviour

Choose the correct answer from the options given below



(1) (A), (B), (C), (D), (E) (2) (B), (C), (D), (A), (E)
(3) (D), (A), (C), (E), (B) (4) (D), (C), (E), (A), (B)

Sifol 3R Ia8R A ifia Jaxzil d foroifeiRaa ARARTa & s08 I afed glol @ MER R @l A =ralard dhifse :

(A) ot

(B) smyfde =rasrR
(C) arfdrgfer

(D) Jgaon

(E) =rasr

ofix feu a1 fameul i A A8l Iz oI oRIel HIfSIU

(1) (A), (B), (C), (D), (E) (2) (B), (C), (D), (A), (E)
(3) (D), (A), (C), (E), (B) (4) (D), (C), (E), (A), (B)

[Question ID = 1290][Question Description = Q87_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5157]
2.2

[Option ID = 5158]
3.3

[Option ID = 5159]
4. 4

[Option ID = 5160]
88) Arrange the following phases as the instructional process in order to sequencial manner

(A) Attentiveness

(B) Coding

(C) Storage entry

(D) Expectancy

(E) Selective perception

Choose the correct answer from the options given below

(1) (B), (C), (D), (E), (A) (2) (D), (A), (E), (B), (C)
(3) (A), (B), (E), (D), (C) (4) (B), (A), (D), (E), (C)

forrarferRaa srefcor yfepri-arull ol 3R a3 waftera dHifsre :

(A) IAawar

(B) acforator (wpifSer)
(C) demvr yfafee
(D) geemen

(E) wrRIetcores sradier

ofi feu a1g faweul A A A8 Iaz oI wrRIel BT :

(1) (B), (C), (D), (E), (A) (2) (D), (A), (E), (B), (C)
(3) (A), (B), (E), (D), (C) (4) (B), (A), (D), (E), (C)

[Question ID = 1291][Question Description = Q88_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5161]
2.2

[Option ID = 5162]
3.3

[Option ID = 5163]
4. 4

[Option ID = 5164]

89) Given below are two statements :

Statement | : People are motivated to learn if it can satisfy a basic need such as desire for new experience, security
affection, recognition, growth etc



Statement Il : Adult learners learn best when they have a strong desire to learn with clear goals before themselves and are
over confidence about themselves

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both statement | and Statement Il are correct
(2) Both statement | and statement Il are incorrect
(3) Statement | is correct but statement Il is correct
(4) Statement | is incorrect but statement Il is ce
il Q1 perol feu st 3 :

et (1) : oot Mo & gfer 9f¥da 31 3 3R ag Jordl giorId) smagaaar &t gfef aar 3, SiY-oRIn siofa, S, oI, Ao, Rt e
bl snepisH / T

Do (1) : gl Prsnell aa wdoes Had & sa o W3S Ut gl D AT AHRAol bl eq 57T Bl 3 3R Sl o= @ ar  sfepmRufrarit
a3

SWRITP Dol D Il d, ofll f&u a1u famedl 3 A AR IUYTP It DI WRIel DI :
(1) e (1) iz (1) Sl 218 3

(2) e (1) iz (1) Sxell srera &

(3) @ (1) A&t 3, afdvor were (Il) srera 3

(4) @ (1) s1ea 3, cftpar weret (I1) 738t 3

[Question ID = 1292][Question Description = Q89_AE_SHAAN_20NOV21_S1_Shift1]
1.1
[Option ID = 5165]
2. 2
[Option ID = 5166]
3.3

[Option ID = 5167]
4. 4

[Option ID = 5168]

90) The First shramik vidyapeeth was established in
(1) Mumbai (2) Pune
(3) Delhi (4) Madras (Chennai)

gerdt orftp feremdiias Fenftra g
(1) it (2) gox
(3) foceit (4) #igra (Aoord)
[Question ID = 1293][Question Description = Q90_AE_SHAAN_20NOV21_S1_Shift1]
1.1
[Option ID = 5169]
2. 2
[Option ID = 5170]
3.3

[Option ID = 5171]
4. 4

[Option ID = 5172]

Topic:- 46AdultEdu_B
1) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn. The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and

knowledge.

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change. The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes. There is a clear sense that there are two different types of knowledge:
that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is



premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged.

As per the text addition of new knowledge has warranted

(1) Unlearning  (2) Resistence
(3) Ignoring (4) Learning

forraiferRaa srerior ol Araemsiigde us 3R offd f&u s1u geot @1 3= § ¢

Silol @ 8iq) 3 fSraell ashl A uf¥ade sirdr 3, Sirel Yra ol drcll B 3dell 3l 3if2re e usdr 3 iz 3@l Hiael 6 sragaamdar Uz TS Idell
3l sifer sc1 Sar @ el arel JAATST - QLRI D P4 # - $ATT 3ol ATl I ul¥srt af¥vre siar 3 il el 3R el Slell UR &¢l &d 3

aenfty, Hizaorarer JATST 9id MR Yid FRrarReRT ol lar 3 RrId e Fuséiasur &t smasamar gkl & usq 531 evcia 3 Hioraren TS,
ArnfSe uf¥ade A §::31 3 AerSt 3 Slol arenl uf¥adol fSrde sif2rd =IMud 3iiR sTedl BId1 3, 3 dId bl Hsiraen 3dofl sifere aiell 3 b 31 ISt
I ol dIcll HATST HAloll SIS TRIID $AD AT DI AAIIcAD M2 BRI-smenfya uf¥adsil bt SieIdst sichivifer zxaor @ ferg Hiden usar 2
e AL IUTC & fop SAIel B Sl IHCIPI-3ICIPT YbR Bl & : U dl a6 Sil AP IR ARDD shiiaar & fere smavae 3, Rl sl ool 2Hkar 3 iz
RRI 331 eI dgeid 3, 3iR a8 Sl WUd dalol @ fére orRf ur snenf¥a 3 as Sil clell &l 3o BN D fo1e sRedl 3 Arfore 3R AR@iae Sfiaet
@ fo1u smaeAe sirel 3 R &St efiedl a1fer 21 ufadar dlar 3, A8 a6 fardluar 3 Sl AP Rerar o fére smavae 2l 8 Safe Ysilare & et
@ {10 51U Sirel I Ma9ABI Bkl & T $AD TSI disil A URIadel 3Idrl & RPRRI el Uz 98d 3ifrm ac $ar sirar 8 APND Sidet i
forgrur 3iiz S1=-fA181vT X6l 9nfdiet dlon aIRe @E M ad WUREM WIS SR-I1vT UR snenfa giar 3 wiifes a1 arsd 3 fp Rrefer gdaa soft @
Srafen smegfor ARSI 3 dgda dsil A uf¥ader diar 3 sAfee ikaor arct AHASI DT Gy AT 3

Ure @ 36 o1 Silel i gig @ fere forgeifciRaa bl smagamdr sicil 3

(1) 3i=Rigmr (Braiien  (2) gRRe
(3) olSRcrSl @l (4) fargror

[Question ID = 1294][Question Description = Q91_AE_SHAAN_20NOV21_S1_Shift1]
1. 1
[Option ID = 5173]
2. 2
[Option ID = 5174]
3.3

[Option ID = 5175]
4. 4

[Option ID = 5176]
2) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn. The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and
knowledge.

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change. The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes. There is a clear sense that there are two different types of knowledge:
that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is
premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged.

What is true about the text?

(1) The idea of learning society is abstract (2) The idea of learning society is confused
(3) The idea of learning society is spatial (4) The idea of learning society is not identified

fogatferRaa srerior ol Aaensiigds ud siik ofid U s1e geotr o1 3= 3 &

Sifol @ 8iq 3 fSraeil ashl 21 uf¥acde 3T 3, Sirel Yrd 2ol dicll ®I 3dell 3l 3if2re Hdae usdr 3 3R @l el bl ragaddr UR AT Idell
3l sifere o1 Sar @ Aidel darell JAATST - [GEIRVIT D WU d - $ATCIT Iol AT DI JURBRI Ui¥vIEd il & il 6l 3R S6l Sloll UR §¢ &d &

aenfty, Hizgoraren TS Yid AR Yid RrarRemRT <ol 3lar 3 SrId fore Fuséiasur &t smagamarn il 3 usqg 531 evcia 3 Hderaren TSI,

ARl afracder 2 5;:31 3 FraTst # Blol aren uf¥ader fraen sifére MU 3z sTs6t 3Idr 3, 33 a1 &I AHsiaol 3dofl sifere aicl 3 5 31 AT
@1 el dIcl HATST Al SIS RIS $AD AGWIL DI HIdelIcAD 3R BRI-smenfya uf¥adsil & eIl suchifer s @ fere e usar 2
s ALRI FUTE § [ Sirel @ 1 3IcIPI-31c19T YDR Bld 8 & U dl ds Sil AP 3R Airdpferm Sfider @ ferg siragas 3, ORI a0l @il fkar 3 siiz



RRI 331 HAreId dgeid 3, 3iR a8 Sl W|ud dalol @ fére orRf ur snenf¥a & as Sil clell &l 3o BN D fo1e sRedl 3 AT 3R ARDiae Sfiast
@ foru saeae® el 3 sraRR w3t eieft sifer A1 uf¥adder glar 3, A8t g fadiuar 3 st PN Rerdar & fire smavae Bl 3 safd Ysitars & afer
@ fere e st &t saeAddr Bl 3 aRIIfp 3D J3t dshl 2 wRiade siar & PRRY o ur gga sifere g & sirar 3 AEnfire sfiaer #
forgrur 3iiz S1=-1o1810T <SX6il 9nfdet Blon aIfde @E M Ad WURE WIS SR-181vT UR snenfea dlar 3 wriifes a1 arsd 3 b Rrefer gdaa oft @
Stafen smegfor AHATSI 3 dgda dsil A uf¥adel dlar 3 sAfere ol arcl AHATSI DT IGA F3IIT 3

ure @ forerRr 3 @R aaca 37
(1) faot aret A3TST @I fFar s 3 (2) fizgol arct ST o1 foarR oia 3
(3) Hfizacrard Aarst o1 forane simarefir 3 (4) fizaer ardr FaIrsT ot forare fifgd ol 3

[Question ID = 1295][Question Description = Q92_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5177]
2.2

[Option ID = 5178]
3.3

[Option ID = 5179]
4. 4

[Option ID = 5180]
3) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn. The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and
knowledge.

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change. The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes. There is a clear sense that there are two different types of knowledge:
that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is
premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged.

The text points towards two different types of knowledge but the one requiring for continuation of social and cultural life is
a feature of

(1) Progressive society (2) Traditional society
(3) Learning society (4) Ancient society

forgaifeiRaa srerior ol A@enciigde ud sz ofild fRu s1e geot o1 32 3 @

Sifol @ 8 3 Sraell asil 21 uf¥acde 3dr 3, Siiel YI Dol dicll Pl 3dell 3l 2D HRdae usdr & 3R @I el Bl ragAddr UR AT Iedell
81 sifere dc1 Sar @ el drell JAATST - [AERVIT D WU 3 - $ATCIT Iol AATSI DI UfFBRI uf¥vne Sidr & il oIl 3i1R Sl Gloll UR &l &d &

aenfty, Hizoraren TS Hid MR Hid RarReRT Sloll 3lar 3 PrRID e Fuséias2u1 & sraeamdr il 3 usq 31 excia 3 Heelaren S,
ARl afyacder 2 3313 Farst # Blol aren uf¥ader e sifére wamuw 3z s1s6t 3lar 3, 33 a1 &I Hsiael 3dofl siferm el 3 5 31 Aot
I 6l el TSI AT SITSIT dRIIfD SHAD AW DI TdolcAD 312 BRI-3menfra uf¥adell &t Siorerdl srctisiiicr a0 @ fero e usar &
Y6 AL FUTC 8 b SIIel B Sl ITI-3ICIPT YDR B & © TP dl 96 Sl AISIP 3R ARDITD Sfiael & fe1e sravae 3, SR sdel il Hiar 3 3k
3R 831 AR TcId &, 3R d6 Sl FUd dalel d e PRI U= menfed 8 ds Sil clisll Ol Ao 8N D 10 SRedd & AP 3iiR ARDIID Sfiaet
@ forg srraea® sirel 3 sraR w3t eeft aifer 31 uf¥ader glar 3, A8l as fadear 3 st AENfSe Rerdar @ fore sraeam Bl 3 Safd Ysfiarg & afer
@ fere o1u stret &t sraeAasdr Bl 3 aRIIfs 3d at dshl I wRiade sirar & RRRY Mol uz agd sifere ad & sirar 3 ARnfre siaer #
forerur 3itz Sie-forerur SM6il onfiret dlo aifde @® M do RURIA TS 31R-ArgvT UR sienfea diar 3 a=iifs & arsd 3 b Rafer ydaa woft 3
S smeyfora sl 3 dgd dsil A ufvader didar 8 sfere izl arcl AT ©I 36 311 3

$3 UIS 3 X 3UciI-3IcPl YR @ Silel bl 317 ADd b sRil & Uq Soldl Ud AP 311 AiFDicad Sfidel @I St 230l @ forg sraead g,
forgaiferRaa &t feroraer 3

(1) yerferofier J@=t (2) WRRPK AT

(3) =fizol aren JAAT (4) yriier Jrarst

[Question ID = 1296][Question Description = Q93_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5181]
2.2



[Option ID = 5182]
3.3

[Option ID = 5183]
4. 4

[Option ID = 5184]
4) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn. The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and

knowledge.

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change. The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes. There is a clear sense that there are two different types of knowledge:
that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is
premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged.

The text points toward a distiction among society’s is based on urge to

(1) Change (2) No change
(3) Changes without learning (4) Changes driven by learning

forgaifeiRaa srerior ol A@ensiigde ud sz ofild fRu s1e geot o1 3= 3 ¢

Sitel @ 81 31 fRIeell asfl A uf¥ader T 3, Siel Y ol dicll @l 3l 3l 3if2rep Hdelt usdr & 3z sl Haal &bl a9y dar Uz AT Idell
81 sifer st Sar @ el drelr JAATST - [AERVII D WU 3 - $ATCIT Iol AATSI DI UiFBrRI uf¥vie sidr & il ol 3R Sl Gloll UR &l &d &

aenfty, Hizorare TS Hid MR Hid RaReRT <ol 3lar 3 PRID fore Fusdias=u1 & smraeamar aiddl 3 usq 31 excia 3 Hxeraren S,
Al ufsacder 2 351 3 Farst 3 Bl aren ufyader e sifére caruw 3z 3186t 3iar 3, 33 a1 &I Asiael 3dofl siferw el 3 b 31 Aot
oI 6l el TSI AT ST TRIIfD 3IAD IS DI TdolcAD 312 DRI-3menfya uf¥adell &bt Siorerdl srctisiiicr 3xaor @ fero e usar &
s LRI FUTE 3 b SIrel @ Y 3IcIFI-31c1eT YRR Bl 3 ¢ Uh dl I Sl ARSI 3R Airapfere Sfidel @ feru smagae &, SR 3ol @l 2k 3 eiiz
f31R1 83 AR TcId &, 3R dg Sl FUd dalel D foe BRI Uz snenfed 3 s Sl clisll &l Aova 81 D 10 e & AT 3ii= ARDirD Stiaer
@ forg srraea® sirel 3 sraR o3t eiatt aifer A ufader glar 3, A8l as fadiaar 3 sl AP Ferdar & fore sraeam BXdl 3 safd Ysiiarg & aier
@ fére o1e st &t sraeAasdr Bl 3 aRIIfs sId a3t dshl I wRiade sirar 3 RRRY Mol uz agd sifere ad & sirar 3 ARnfre siaer #
forerur 3itz Sie-forgrur SI6il onfiret dlo ifde @® e ab WRURRIA TSI 1R-ArgvT uR sienfea diar 3 a=iifs & arsd 3 v Rafer ydaa woft 3
S smeyfora Al 3 dgd dsit A ufvade didar & safere izl arcl A ©I 364 g3 3

08 UIS, A 3 3G Bl 3R ADd dr & Sil forgoiferRaa 3imefg uR smenfyda 8 :

(1) ufsacdor (2) uf¥acfor or&
(3) forgrur o foomr uf¥acdor (4) forgror & grr forsfora uf¥ador

[Question ID = 1297][Question Description = Q94_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5185]
2.2

[Option ID = 5186]
3.3

[Option ID = 5187]
4. 4

[Option ID = 5188]
5) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn. The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and
knowledge.

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change. The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes. There is a clear sense that there are two different types of knowledge:



that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is
premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged.

The text points to a set of knowledge which is not taken for granted is

(A) That which were structuring long back (B) That which enlightens the people
(C) That which is work based (D) That which necessitates continuation of life

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C)  (2) (B), (C) and (D)
(3) (A), (B) and (D)  (4) (A), (C) and (D)

forgatferiRaa srenor ol Aensigde us 3R ofld fou 31e gost o1 IR & ¢

Sitel @ 81 31 fRrerell il A ul¥ader T 3, Siel Y ol dicll ®l 3dell 3l 31f2rp Helt usdr & 3k sl Haol &bl a9y dr Uz AT Idell
3t 3iferep a1 Sa1 3 ol arelr TS - LRI D WU 3 - 3AfeIT Il Al @1 3raf¥srt uftvie siar 3 Sil o 3iiR et Slell UR et 3 3

aenfty, Hizoraren TS Hid MR Hid RaReRT Sloll 3lar 3 PrRID e Fusdias=u1 & saeamar gkl 3 usq 31 evcid 3 AHxolaren S,
ArEnfSre aftade A 5318 9ISt A Blol areln uf¥acdel fidae sifr *mud 3iiR sTed 31 3, 3 ard bl Hsiraen 3dofl sifere aiclt 3 6 391 ISt
oI 6l el TSI AT ST TRID 3D AT DI JolcHD 312 DRI-3menfya uf¥adell &1 Siordrsl srctisiiicr 3xdor @ fero e usar &
e ARI TUTC & b SIr6r @ Il CIPI-31c19T YDR BId & © UP dl a6 Sl AP 3R ARDIID Sfiaet @ fe1u sragad 3, BRI a3l ot 2fiar 8 sk
f31R1 831 AR AcId g, 3R ds Sl FUd dalol d fo1e DRI Uz snenfed 3 ds Sil clisll &l 3Aova 8N D 10 e & AP 3ii ARDITD Siaet
@ feru smagAe sirel 3 R &St efielt sifer 1 uftadar dlar 3, A8l a6 fdiuar 3 &l AR Rerar & fore snavae 2l 3 safe Gsitarg & st
@ fere o1e stiret &t sraeAasdr Bl 3 aRIIfs s2d adt dshl I wRiade sirar @ RRRY Mol Uz agd sifere ad & sirar 3 AIpnfire siaer #
forerut sitz Si=-forstut SM6il onfiret dlo wifde @E e ad WRUREIA TSI 1-fArgvT UR sienfea diar 3 a=Iifs & arad 3 b Rafer ydaa woft 3
Safcs smeyforad AATSI 3 dgd dsil 2 ulkdadel siar 3 sAfere Hldol arcl AATSII BT 35U F3IIT 3

3 UI6 3 Silel © WI-AHT (Ac) Bl 3R Idd o srn 3 BRI Faa: dloll FdIeR o1&l fop= siar a6 3 :

(A) RrRI ®1bl e gd FMId f[oan sk em (B) i elisll @I ygg Jolrar &
(C) it @Rt smenfya axar 3 (D) it Sfider &t RBRAAT DY HIAAD ol 3

ofld f2u s1u faascul d A A8t Iaz BT Il BIfSIY &

(1) (A), (B) aiiz (C) (2) (B), (C) sirz (D)
(3) (A), (B) stz (D) (4) (A), (C) sz (D)

[Question ID = 1298][Question Description = Q95_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5189]
2.2

[Option ID = 5190]
3.3

[Option ID = 5191]
4. 4

[Option ID = 5192]

Topic:- 46AdultEdu_C
1) Read the passage carefully and answer the following question :

After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme. It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India.

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”. The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource support institutions that received varying levels of trust and confidence of
the authorities at different points of time.

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension” activity.



These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme. Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

‘Mere literacy’ in the text as referred the authors means

(1) Exclussion of literary from Adult Education (2) Renaming only the programme
(3) Reorienting the emphasis (4) Reenerging the Adult Education

forgotferiiaa srerior @) eareigda fUr::@u 3iiz yeuidq 3w sre gear @1 3z difse:

ISR Gii:e o181 oRiapt aor SJEiivT YoRIicrd ATSRAT DPRIGH o UL HRARI GG o181 dRiag &I ‘A A1eRAT DRIGI 3 311 3l SR d8
3ol 3<a ATgRAI el & JAfScl UR smeniea ASCRI ATGRAT BI9r6 31k gui A1gRAT If¥cTell @ Siccarsil 3 orRNfSIa 3R g3 are A DRIffodd aruT
3 Yd91r B2 RII 3R R HRA D foldal ATGRAT BIcll UR 3RTBCIAIYdd ¢IF] &= ST SR R 3 ATSRAT PRIGJHI DI YaIfel DI Fara>AraR efte A
30l R Is A frerar 3 o5 ag, “Aliston A ey, Rafparsd, yeifdari, 3 ufade iz s yderet vd tasiiayied sRIberdrsil @ 3ol arvil
A formel g1 3 391 of Breol Mool c1gll wd SIoRIFRINS UR SR ol dIcl 3ol AIGRAI ud Yl 91811 PRI Pl 9F fop=mm; 391 of 31 yfegrn @
SRIel dolidbl FHATeIoT Al TSI D U Ac DI 9it Iaq6m bl BRI rcIe1-31eT FIRT U YI2DBITND A 3IeT5T-3cTPT IR DI R Al forart g
331

ferafdencril siiz icsl of ATSRAT Ud Gi::G 1811 I TR 31U A AT UeIRN dics ‘Stotar bl {1811 1 368 U YR &l AR aifefakr a1
RR YId 3T A AAL3MI of Gi::G 191811 DGl ud ‘S dol, & dol’ PRIGIAL DI ATA-ATA FAIMUA D6l D Yfel &) [ efSeplvr dI amrera
DID aftger ATSIRAT 319161 B PRI A d5d a5t 3RTsHIT RI° DI ATgRAI Td Gi::G forg @ 3retrar sof A3l of Storize {91811, Piglofl ATerdl,
grerfdre forgn @ daaR Yt aq Ar-firar &t fren af¥ss sreif¥dl 3q raq fren, urifavera e, ud Sterar @ fére fasier oriagd @1 9
BID U 3Mf2re PRI Baas ol gfiiace e

Azt of ure A R A ARar” @ar & IA®T 3ef 3 :
(1) gl forgmm A ATSRAT BT Riacdiol (2) d5acT DRI DI GRIT ST BIol
(3) SQaar o1 YoriAfdeaura (4) Giz@ RIsm @1 Yorspeifaszur

[Question ID = 1299][Question Description = Q96_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5193]
2.2

[Option ID = 5194]
3.3

[Option ID = 5195]
4. 4

[Option ID = 5196]
2) Read the passage carefully and answer the question following :

After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme. It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India.

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”. The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource support institutions that received varying levels of trust and confidence of
the authorities at different points of time.

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension” activity.

These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme. Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

Author is indicating that there were some disagreement of universities with NLM programmes in terms of

(1) Approach (2) Programme
(3) Participation (4) Exclusion

forgoiferRaa steri9r ol &Aegde fU::eu 3R grutd fGu 31e yret @I 3R Sifse:



IséR g g wrRiaa aen s[Efivr yorRIfcaed ArgRar oriaga @ v srdin gi::c e orfaa o1 ‘arqg angrar’ oriaga # grR1 8l orRI a6 seifia Ica Argrar el & disa
az smenfy¥a AecRI ArgrRdn fIrorat siiz gui grar sificrell @ Sicoarsil 3 forNfSa siiz g3 avs A oriifead arur 3 YAl @2 sRI 3R 3 HRA @ forel AgRAI Kicll U? sRIGcAgde
<) g2 oo sRm MR 3 ATeRAr BRIl 6t geIfar ot FardsiaR efte A J@el R As ADd fBrerar 3 6 as, “Aisen A Aqag', Rafsarsd, gafdari, 3 uf¥ader siiz smr yeerer va

ol fee sRTBeransil @ sola <Ruil A foraer g1 3 391 of fitool Mool cIgRil vd STerRizeIail UR Siik ol drel 3oIes ATSRAT Ud Gli:a fO18I wriasr @1 9 fpam; Sor of 531 yfegan

@D SIIoT Aol HATeret Farefer Frensii d v Ac &l off T B BRI rcrPI-31eRT FIRT U YIfIBIfFe A SrereI-31ceT I T HRIAT AT fsarT gra g3

forafiencril sz wicksil of WgRAr vd ;e I8 B Fo U A SARIT 3eIRN b “Stotar &t Aren A 308 v YR B’ Rrar s1fifafdr o1 sraRR gia gan s Azasiia Qs
fOren B¢ vd “$a a1, da ao’ GRIGEH] B Arer-A1er FeRId DI B YT &l Rivra effeaivr Gt awicrd wid Afg ArgrRdar Biorel & oriagw A agd a3t srRIsHkT =1° &t
AT Ud Gi::@ 181 @ sreirar ol AFeA1sil of StelRizen 191811, ®Iofell ArgrRdn, yrefdre {9181 @ daar yaea 3q Ardar-far ol Rign afyss ameif¥el 3q e fargn, vatasveE forgn,
od Soidl @ fore frsirer BRI @Y 9F @ v 3ifers fRIerRilcaz B aas o1 gfurce fear

AP A dId DI 33 DA D2 36T 3 Tol. Ucl. Uil DRIGH 1 feafdenerii A forger 3 A vl v dist o A2 srsaf 3, as st a=m 37

(1) zRemI01 (2) oriGHa
(3) smeficrt (4) afdsmor

[Question ID = 1300][Question Description = Q97_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5197]
2.2

[Option ID = 5198]
3.3

[Option ID = 5199]
4. 4

[Option ID = 5200]
3) Read the passage carefully and answer the question following :

After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme. It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India.

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”. The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource support institutions that received varying levels of trust and confidence of
the authorities at different points of time.

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension” activity.

These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme. Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

Author is indicating of transition of NAEP to other programme was :

(1) An administrative one (2) A continuation one
(3) An improvement (4) A dilution of the programmer

forgoiferRae sterior ol &Aregde fU::eu 3R grutd iU 31e yger @I 3R difse:

ISR Gl fOren wrRiagr den syefivr yorifcre Agrar oriaga @ i urdlr gi;:e 18 orfae o “arg Argrar’ oriaga 3 gRT 8l sRI a6 3elfia Ica Argrar Ricll & disa
a3 nenf¥a IsdRI AgRar frorer siiz gul grar sifdicrell @ Sicoaril 3 forISH siiz gt avs A oriffsaa arvr 3 gaer w3 srn 3R 3 HRA D el A1gRar Rl U sRTBaagds
€Y G2 oo SR MR 3 ATeRAT BRIl bt yeIfer ot FardsiraR efte A SFol R As ADd frerar 3 6 as, “Aisten A Aqg', RBafsarsd, gafdari, 3 uf¥ader siiz smr yderer va

Laoiiay e srRweransil @ sioia arvil A forwe gt 3 391 of Moot Moot clgAl vd STorRizoANsil UR Sk ot ardl 3ol ATSRAT Ud ;i@ fAren wriaar @Y 9 fpar; 391 of 531 yfdgar

@D SIIol dAdoilbl HATerel Farefer Fremsii & v Ac &l oft oo B BRI rcrPI-31ePT FIRT U YIfBIfFe A SePI-31ceT I3 BT HRIRAT AT ftarT g g3

forafiencril sz Bicksll o MgRAT Td Gii:e I8 Bl FIT U A SARIT 3UeIRN b “Stotar &1 fAren A 308 v YR Hl' fRrar s1fefafdl o1 sraRR gia gan s Azapi o giis
foren ) vd ‘$a o1, Sa aor’ ORIGEH! DI AT-AT FRIA Bt B yfer 8 freprT eftepIvr bt awmrera wwad Aftg Angrar Riorer @ rRiad A aga a1 srIsHART =I° 6B
ATSRAT Ud Gi::a 181 @ sremmar sof Aizemsil of SorRizen f3rei, wiofofl mgrar, greifdre e & dsar yeere 3q arar-firar &t fArgm af¥ss areifat 3q wradq fRign, wifaruer g,
ud Stetdr @ fore frsiier oriaw o1 9% ®Id o siferm frerRilcg@ B adas oI yfiaca fsar

AP 33 91 &l 3R ADd D2 Wl 3 I wol. ©. . Ul oI (e PRIayil 3 FUIART

(1) germraferm e (2) FaRTR® o1



(3) o FurR e (4) oriaa o1 rafdofur ex

[Question ID = 1301][Question Description = Q98_AE_SHAAN_20NOV21_S1_Shift1]
1.1
[Option ID = 5201]
2.2
[Option ID = 5202]
3.3

[Option ID = 5203]
4. 4

[Option ID = 5204]
4) Read the passage carefully and answer the question following :

After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme. It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India.

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”. The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource support institutions that received varying levels of trust and confidence of
the authorities at different points of time.

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension” activity.

These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme. Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

Universities and colleges went for literary and Adult Education because they considered it as:

(1) An innovative programme (2) An additional programme
(3) An extension programme  (4) A reinforcing programme

forsaiferRaa srerior ol earogdas fir;:au 3R yrudr fGu s1e yest o1 3R difsre:

ISR Gl fOren wrRiaar aen syefivr ywrifcare Agrar SrRiagH B v dRdlRr gi;:e 18 orias o “arg Agrar’ oriaga d gRT 8l 9RI a6 3elfiia Ica ArgRar Ricll & disa
uz smenf¥a AedR Agrar fioret siiz guf amgrar sificroll @ siecarsil # forifSia st g8t avs A oriifoaa arvr 3 yaer @2 sk ik 33 URa @ forer AgRAT frell UR sRIGaagd®
<) g2 o= SR MR 3 ATgRAT BRI 6t goIfer ot FardsarR efte A @l uR As ADd frerar 3 6 as, “Aisen A Aqg', RBafsarsd, gafdari, i uf¥ader siiz smr yderer vd

Laoliayfew srrweransil @ sioia arvil A forwe gt 3 391 of Moot Moot clgAl vd STorRizeAsHl UR SR oY ardl 3ol ATSRAT Ud GG fAren wriagd @Y 9 fpar; 391 of s yfpar

D SIIel dAdoiichl Hrerol Faefor Azl D ud Ac 6l it Taon bl RRY erEI-34cPT IR U= YIEPING 3 ePI-34cPT IR BT $RI|AI Al fadarT grd g3

forafiencril 3k Bicksil of MgRAT vd Y@ 18 Bl FITR WU A SARIT 3UeIRN Jfb “Stotar &1 fAren A 308 v YR B’ Rrar s1fefafdr o1 sraRR gia g3n s AzaAEi o giis
foren B3l vd ‘$a qo1, Ea aor’ ORIGEH! DI ATT-AT FAIA B B yfer 8 T efteplvr bt awrera wed Aftg Argrar oot @ wrRia A aga a1 srTsHART =I° 6B
ATSRAT Ud Gli:a 181 @ sremmar sof Azemsil of SorRizen 318, wiofoll mgrar, greifdie e & dsar yseret 3q arar-fiar &t fAren af¥ss areifyat 3q zraq fRign, wifaever g,
od Sloldl @ fere frsirer wria @ s @ v 3ifirs RierRilcaza B aad o1 gfeurce fear

ferafdencril vd Bl of ATGRATI Ud Gl;:& {18l ol sAfee ueiRI aifds d 3 ©

(1) v ordicurc oRiGH WEA 4 (2) vep sifcafsd Driags s &

(3) v AR oRiau WEEA A (4) v Yordfera oRIGH Fsid I

[Question ID = 1302][Question Description = Q99_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 5205]
2.2

[Option ID = 5206]
3.3

[Option ID = 5207]
4. 4

[Option ID = 5208]

5) Read the passage carefully and answer the question following :



After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme. It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India.

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”. The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource support institutions that received varying levels of trust and confidence of
the authorities at different points of time.

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension” activity.

These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme. Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

As per the author ‘Area development programme’ offered an approach which was

(1) Simplified (2) Multipronged
(3) Focussed (4) Intuitive

forrarferRRae srerior ol earogde Ui iR yeuzad f&u sre yssil oI 3R difsre:

IER g R1gn eriae aen syEfivr yorifcas Argrar oriaga & uirg sRdin gii:e 1 oriaa o1 ‘aqg angrar’ oriaga # g1 8l oRI a6 seifia Ica Argrar el & disa
a2 3menf¥a s ArgrRdn fiorat 3iiz gui ngrar sificrell @ Sicodars 3 forNfora siik g8 avs A oriifead avur 3 YAl @2 3R 3R A MRA @ forFel AgRAI Ricll U sSRIGAgd®
ciF) g2 e sRm iR 3 ATeRAT Briayl 6t geIfer ot Fardsiar eftc A J@al R Az ADa Bicrar 3 b as, “Ason A Aqg’, Rafsarsd, gafdari, 3 uf¥ader iz smr yeerer vad

aoita) few 3RTBeransil & soia vl A forae g1 3 391 of fitool fitool cIgRil vd SrerRizensil UR iR ol drel 3loId ATSRAT Ud i@ fO18n wriaar @Y 95 fopam; 3or of 531 yfagam

@D SIRIoT dAdoilchl HATereT Tarefor Fremsii & v A &l off o B BRI cPI-31ePT TR U= YIfIBIG A SePI-3eRT TR BT HRIAT AT fasart gra g3

Rreafeencril iz Bicsil of erRar vd Gi:e RIS B Iz U A sATIT uerrRn b “siotar 6t Pig A Ios ud gor B’ fazar sifefafs of sra=re g g3n sa1 Azamia Qive
foren B vd ‘$a a1, S aor’ orRiaE! B AT-AT FRIA B2 B Yfer 8 frprt eftemlvr &t awrcra wwd Afga A1grRar Riorcr @ orfag A aga a3t srtsafr <a° &t
TSI Ud Gl 18 @ sreirar ol A eA13il of StelRizen 91811, Ploell A1grRdl, yrefdie forgn & Jear ydera 3q Arar-frar ol forgn af¥ss ameif¥el 3q daq frgn, gafasveE forgn,
wd Sloicl @ ferg firsirel wRIaw @ 9F o3 v 3ifere RioRilcg B aad o1 gfiurcs foar

Ra® @ ARIR "8I fIpr1 PRI’ ves YT Sif¥e St 3 Sl
(1) aeclipa 3 (2) sgamrmeht 3
(3) dRa 3 (4) sia:ysieae 3

[Question ID = 1303][Question Description = Q100_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5209]
2.2

[Option ID = 5210]
3.3

[Option ID = 5211]
4. 4

[Option ID = 5212]
Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Worlkforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrbution M:F)
Service (SE) 15% 3:2
Sales (8A) 12% a::3
Construction and Maintenance (W) 0% h:4d




Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% *h

FefetE aifer W fa=m fifse e o 57 50 99 % 7w = 5 & § 9ne 5 e w5 e
(%) Taamor qun gea-ufee HEee g g T 2| '@l & % Fe HEed 6 ged 80 @ 2
ATeTeT § T2 U SATRS] % YW T YTT F 397 A

wfeerd (%) faaor | gea-afen o (79 )
Tar (g ) 15% 3:2
Teg (TE ) 12% 5:3
fmtor =i sEm (o) 9% 5:4
mHere (i 3m) 18% 5:7
TE (T T) 21% 3:4
JearEA ¥ i (fF #) 19% 518
3= (a7 ) 6% 8:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Teft &l 1 e gy FEee 6 IAiEd T = 27 (9Hed & 2 99 aF)

(1) 6.39 @i (2) 4.69 9@

(3) 5.96 @i g (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

A wWw N =

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 32
Sales (SA) 12% Bz
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% 3:5

FefetE aifer W fa=m fifse e o 57 50 99 % 7w = 5 & § 9ne 5 e w5 e
(%) Taamor qun gea-ufee HEee g g T 2| '@l & % Fe HEed 6 ged 80 @ 2
ATeTeT § T2 U SATRS] % YW T YTT F 397 A

PR I | oV RN : ATNPRIPE . -




FUERAL =0 SO A A0 PAAERT

wfderd (%) T | gee-wiwen ogeE (39 )
T (vF 2) 15% 3:2
ey (ug ) 12% 5:3
fomtor i smee (< o) 9% 5:4
THeFe (i W) 18% 5:7
TaYT (T T) 21% 3:4
Ieareq A ufae (4 19% 5:3
a1 (= &) 6% 3:b

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330% (2) 318%

(3) 320% (4) 80%

e B e ) e e e e ot e o o e e i e e B e e ot BB D e s e e

(1) 330% (2) 318%
(3) 320% (4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (S8A) 12% B 3
Construction and Maintenance (M) 9% bh:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5 G
Others (OT) 6% 3D

frafafes aifes = fa=m fifse 5o o 57 5o ad | om = fafim & & e & s =1 afam
(%) faamor 7 Tu-afzan FEEe sETE 9 T 2| ol e % T wEEe i g 80 @ P
FifeAaT § 23U 0 aT7s] F oUW W UvT % 39 altan)

WA % FEEE F1 EFan G

ufera (%) foeor | geg-nfzen squ@ ( §: 9 )

Fa (TE 3) 15% 323
6:3
5:d

ﬂ 3
4
A
et
e
=]
(=)
[

|
5
1
E
E
4



TrFEe (1 21m) 18% 5:7
TgEF (UH T) 21% 3:4
Feara AR i (d #) 19% 5:3
a7 (=1 ) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH T AN UH U &A H HEi 099 HEe H Fe S 0t 2 a4 § HeE wrEed 6 fe S o
e faeE 27

(1) 82% (2) 87%
(3) 89% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% :7
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% *h

FefetE aifer W fa=m fifse e o 57 50 99 3 7w = f5fm & § 9ne F e 5 i
(%) faemor @ gea-ufeen wEee wquE g9 T 2| '@l & % Per Heed H GEd 80 @
ATeTRT § T4 U SATRS] F YW W UTT F I A

ufdeE (%) o | -t s (g o9 )
Fa1 (uF g) 15% 3:2
e (TE ) 12% 5:3
famtor afft sz (i uw) 9% 5:4
TFTEe () 18% 5:1
Te9F (UH 1) 21% 3:4
FearEA AR i () 19% 558
3= (311 ) 6% 8:5




The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

UH U 3R UH U &1 § wERa Afeen FEee # Fa qed S f f G ° weEe atwen wEee fiwe w5

(1) s.19ma (2) 7.5 @ma

(3) 5.7 (4) 13.2 =mg

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:92
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% ]

ffafed aifers = faam fifse f5om o fog 5o ad | om = fafim &t © e % s =1 sfam
(%) fammr @ wu-afEen FEEw o = T 2| wd e T wEee w50 =g
ATt § T2 U SATHS] % YW 9 YT % 39 alAu)

WA % FHEEE W AT A

i (%) Taaer | gev-aieen sgua (g9 )
= (TE 3) 15% i
Ty (ug ) 12% 5:3
fomto it srgeem (o o) 9% 5:4
arkeEe (f @) 18% 5:7
TaEe (TH ©) 21% 3:4
Ieare R i (4 &) 19% 5:3
o7 (= ) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 : 39 (2)16: 37

(3)16 : 35 (4) 16 : 39

ot vy &7 T FEE afeen FEsE $ wen @i @ 9r d o i A § S 9y wEes S B 2 w5

:ﬂj:rcrl—crtrm%?

1% 17 . 20 FLPAY 18 . 27



LR i L = = T AL

(3) 16: 35 4 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

HEAA T8 T ¥ §oF TR TR 31 gE1 6 9 T AR 6 S e Wega e WA 8 7
(1) =& (2) wEETY T
(3) FH= (4) wAET FEm =

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8045]
2.2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

ffatEs T2 g erH qumen i g1 E e ae gadt G et % e g fafee

T 2| 3% g 1 FaEn 4T i AHA 2| T A T H AqEa an S8 % S A 27

(A)  sTeE-gEa (FWA)
(B) T
(C)  Tom i afeats

(D) HEIE]

(E)  A5igan

e feu o fasedi # @ wF ST 1 wEA HifC

(1)  (A) =7 (B)
(2)  (B) R (0)
(3) (D)= (E)

(4) (B) = (D)



[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I) Using Swayam and Moocs

(B) Open and distance learning method (Il) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(), (B)-(1), (C)-(iN), (D)-(1V)

(2) (A)-(11), (B)-(IV), (C)-(1), (D)-(I1)

(3) (A)-(1V), (B)-(lD), (C)-(I), (D)-(I)

(4) (A)-(I), (B)-(), (C)-(1V), (D)-(1lN)

Fei-1 = w9 G111 faerm i) geit1 9 5= e seonst | foem i fafeei 6 02 2, s=ts g
11 % st fafemt i womsfem aem 1 a5 41 18 2

T I Eid|

foreqor =i Tt THEI A WG i aFA
(A) HAHA-TEA i FAAERAeR i (I) ¥599 37 g7 F1 T4
(B) T 3 gradt sifermm fafy (I) wAfaspiaa HTEeea® doa
(C) foreor it Tafw=r fafa (IIT) =T=FeR ATZens st
(D) fareqm =i =S faf (IV) uf=mn =+ mg-wy fames oo

= fou o fasheqi @\ = w1 = A

(1)  (A)-D). (B)-(ID), (C)-(IID), (D)-(IV)
(2)  (A)-IID), B)-IV). (C)-(T), (D)-(IT)
(3)  (A)-IV), (B)-(III), (C)-(II). (D)-(I)
4y (A)-ID, (B)-I), (C)-IV), (D)-(III)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (I) and Statement (Il) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct



F9 1 (I) : IAEI AR ATHEEAT WA F TIATGA] h [ AR AT FHAT i U HHT F

Fu7 (1I) : T SAfhed TAT W WAdE Athdcs Wi wETdEl & e s"en 9 o

AT 7 % TEEE W AW e A A
W FUA AT |, 4 70 e 8 6 weE 39 I R =9 S

(1) =9 (1) =0 (ID) 21 =8 2
2) = (D) 3 (1) 391 T 2
(8) A () Wet 2, =i %A (1) 7 2|

(4)  =ya () e 2, 9T 97 (0D 78t 2]

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true
= FIT =y 2 o f‘ T ATGEYE (Assertion A) * w9 § fanad % Gl LSkl 3m% F0 (Reason R)
& B H :

wfa (A) - foem & smgf ot oe = A amaniE wEEa gt w1 HiEa s srfemm fom
I SEAH S 2

FA (R) ToRelt et fereror mEmrET woned w0 st whifEdteA @ g9un % 'y w6 e S
i

T WO * AT °, 419 Er T TEew | ® Tl 39 1 =999 i

(1) (&) (R) 3 A S (R), (A) Fr = = 2
(2)  (A) 37 (R) &1 @07 &, ®fF (R), (A) it T8t =me 746 2
(3) ()@= 7, FFT (R) w79 2|

(4) (A) 316 2, wifFT (R) g 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

foFm W = witg | wiawri-afoe 1 areta fower s 2

(1)  F=mdta =g (2) tfaefas @y
(3)  =AEETH® WY (4) TEFTE TG

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]



2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

afispenr afteqe fomt aforfa = 1 wifagfe =7 sfe % =9 4 2 2, o9 6 F=fafes 7 9 5 G

= TIY TN & 7

(Ay  Tagones &@tg

(B) TR fafa

(C)  =mEme =g
(D)  ufd=Tes &y

(E) =g fafa

<t fou o fakedt & @ wd 3 w1 =Ee il

(1)  (A) 7 (B)
(2)  (B) W (C)
(3)  (C) ¥ (D)
(4) (D) 3t (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)

(2) (A)-(1), (B)-(I), (C)-(I1), (D)-(1V)

(3) (A)-(I), (B)-(l), (C)-(1), (D)-(1V)

(4) (A)-(1n), (B)-(h), (C)-(1), (D)-(IV)

-1 % =19 g=-11 1 e Fife) g1 % 79 % = 99 3, 66 goi-10H 39 g6 TG T

Feft-1 g=-11

Ty & = THRT A TS AT A
(A) wwE g () HThS! F1 TR AR T T
(B) ufishewr fmior (II) o Tz U2 & 3HAT H <7

(C) wia=== wiFn =1 =99 (1) =/ = &= § §eF 79 336



(D) s e (IV) =" = =0 & o= gay w4ind #

= fEu o e | W wEl 39 W =9 FI0AT

(1)  (A)-dID). (B)-AV), (C)-ID). (D)-(D)
(2)  (A)-D. (B)-I). (C)-(IID). (D)-(IV)
(3)  (A)-AD. (B)-(IID), (CO)-@. (D)-(IV)
(4 (A-ID. B)-D. (C)-aD. (D)-(IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

= 21 = f2u T #

w1 (D) U WH-TEE N AY-UF ° ogd N @A % ey AR el % si" i A T8
For (I1) ot wEHt s wR T ST w9t e * o a2

IYIIh HYH % e 1, 4 fau e el | 9 wd 3 99 it

(1) =9 (D) # (1) 391 5 2]
(2) = (D) & (1) 241 318 2
(3) =9 (1) |ed 2, @ #99 (1) 39 2

(4) =9 (I) 799 2, @ Fua (D) T &

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

d= @1 F9A U 0 F :ouF afFud (Assertion A) F w9 | fafad # @ gE0 3WH FA0 (Reason R)
% = H -

S TreTT FAY - f o T, Tptic, VNN « B! 5" S MU o SR - SUM! . S SV o <. ST « O N o



et P TR T B S AT A b ol A iy el ol B 5 AN ke £ UL (o, S SO b R St S0 o S R e B e R T L AR Y ey - AL St B0 A S SR e o o R SR B SO & G £

=iET|
F (R) oitg wfewem (Hy) =i whamts =i stagfe g =g @ 78 $1 =1 @i 2

I FYT F A |, 49 70 e § 8 wee S S5 R =99 i

1) (A) % (R) 3F1 T8 7 370 (R), (A) F7 @ ==w= 2

(@) (A) 3 R) IA TE F, = (R), (A) F T = T e
(3) (A W 2, A (R) WA T 2

@) (A T T 2, 9 (R) TR R

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

YA UH TR e a6 g U fae eteten 1§ 9 e 5w e e e
(1) 30 St (2) 307g
(3) 15 I (4) 15 Fa=%

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

| TmmTT = odE-faE (S) "Let truth prevail” #7

(1) 3 =2emma (2) =TETH STF SreA
(3) ff=m (4) =fg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.
Reasons (R) : Internet is tending to eclipse broadcast media.
In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
H= 31 F9F faw U : vF SFYE (Assertion A) % ¥9 ¥ fAfEd & 1 350 3WF FEU (Reason R)
+ =T H

wfiem (A): e TER (sTewe) sherga A Gafwie s S A 8, T w8 dfen
61 T9E H HH U9 U2 @ 2

FT9 (R) : e TERY (S difea W e 2 Fi o v 2

T U F @ 1, {9 {5 T e 8 @ men 3w S R =9 i

. = - S T - P 4 - iy (L2 . ™ ™ TR



wr o Ay HIN L) o1l Sl & I (). (A) =nl Ael =41EA] &
(2) (A 3 (R) IF TE E, =06 (R), (A) i T2 = w6 2
(3) (A= R, S (R) w8 A4 2
4)  (A)=E FE 2, wfw (R) WA )

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHET #F 39T &7 =g AE U Aqahies 0 T O T aniys e 3 et afed g
(A mE fagm Tt A awa A @ = F )

(B) ¥ v FEA F9E # =g e 21 % )

(C)  arfmEm i foven qonet =1 &1 924 & fen)

(D) 97 gmm A+ * fom fF Hifsm =1 woa g9 g =@ 21
f= fou o faFedl # | wEE ST I = = A

(1) = (A) 37 (B)
(2) = (B) 31 (C)
(3)  Fa= (C) =T (D)
(4) @ (A) #T (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

= 21 7% g § @ memw i wEEes s w5 e i

(A) T



(E) = =14 841

= fau o faweTl § | WE 39 o =9 FirAw

(1)  =ee (A), (B) 3 (C)
(2) === (B), (C) #” (D)
(3) == (C). (D) % (E)
(4)  =ae (A), (C) # (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family
(1) Rs. 3,000/- (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs. 6,000/-

UF g4 % SN U URER F 1O 2 o ugH 3 HAAT #4000 w9, 36 A 4 HEF H 4500 T

# #Afm 5 #wEA #5000 T A1) I =W AW F A FA w=A 5000 ¥ f | 3@ ufEwR i ostEn

oI 37 AT 7
(1)  3000/- == (2) 4000/- ¥

(3)  5000/- &5 (4) 6000/ - =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75  (4) 56.75

70 ® 90 & dr9 #i @ AT "EmEl = e gan -

(1) 765 (2) 098.25
(3) 55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% = 33 #fiew 39 g W 11 e 39 F fawa gem F avew o Afdq Fa 2 ufowa § @
q\d:

(1) D50, (2 50%



(3) 70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

at3 ot wg 1 P g me T gom A 95% 2 ot =y i witeraa = 27

(1) 4.26% (2) 5.26%
(3) 5% 4 T7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

Afz s =afw et awq #1 25% vfawa &1 =1 T 39 1200/~ #9094 =01 2 @ 30% = 9 FAH F
foru 3@ 3@ owg =i g Simd W s=ET =E 9t

(1)  1600/- =93 (2) 2000/- =93
(3)  2080/- wwd (4) 1560/- =5

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti  (2) Anumana

(3) Upamana (4) Unuplabdhi

T WAATE S9N § a1 AefatEd 8§ wE-a w96 ame 95 i = 9e 9 |y oA w
AT 27

(1)  samE (2) FAE
(3) EUEIT] (4) Tl

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)



AT T % SATEN STTA % HEe W wOT = @6l 5 9 A 7

(A)  TaEme fawm @ g i wHEa/oEsar # w9 (3999)
(B) o 1 Fo (7g)
(C)  ifiyumon = fagl % =u # gfe (fma)

(D) aAfqgmon =1 F9F (Jfa)

(E) fafea Fam =1 3gmm 2 (32T

Hr fou o fashedi ® @ wF =R w1 9ET HifAC

(1) (D). (E). (A). (C). (B)

(2) (D). (C). (B). (A). (E)

(3) (D). (B). (E). (A). (C)

(4) (D). (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philozophy reduce Sabda pramana
(verbal authority) to inference?
(A) Navava
(B) Vaiée_sikas
() Buddhists
(D) }'Iimﬁmsﬁ
(E) Carvaka/Lokavata
Choose the correct answer from the options given below :
(1) (B) and (C) only
(2) (B}, (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only
e A 99 T AT TS YsE GO S HTEH o HaTd Jd B 7
(A) =
(B) ==
€ g
(D)  HmmEn

(E)  =mams /dmwmEa

Fr for o faewi ® @ @ I w1 T Hifaw

(1) == (B) #:R(O)



(2)  ==E (B). (C) ##h (E)
(3)  Faw (B) #T (E)

(4) === (A). (D) #1 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (Il) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (I) and Statement (ll) are true
(2) Both Statement (1) and Statement (ll) are false
(3) Statement (l) is true but Statement (ll) is false
(4) Statement (l) is false but Statement (ll) is true

fr=1 3 A 2w #
(D : T WA THEARE F SHER FAISEIAE HE A w9 % o o A 2
Faa (1) ks WA 97 a1 gl & 5 =6 | uen 8@ sae S 91 afed s a8

gardl & % =9 F8 wgEE @ 3

IWFE FHUA F AEF °, = B0 FEe 5 " g 39w 99 i

(1) =59 () 37 (II) 31 a9 2|
(2) = (D) A (ID) 241 15 B
(3)  =ua (1) ucd 2, =i = (1) 31509 2

(4w (1) w=ed 2, w6 F9A (1) T 2|

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

g1 % =y g1 1 faem fifsm)
Ll cimil

(A)  sfipgron i wefa % &9 9 gfe (I) =& gl BT ® 98 AN Bl B WH WIEa



H|

(B) =W H FIT (IT) TETE T 31 2|
() fafza Fam =1 semoo & (III) SHFET T2TEl T 17 2|
(D) Tiua =i SHaTe! SAfaaR #1 99 (IV) =it ==l gt 21

= feu U feekewt | @ wWE 3T o = i

(1) (A)-(I). (B)-(IIL). (C)-(IV), (D)-(1I)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(IV). (C)-(I). (D)-(II)
(4) (A)-(ID). (B)-(I). (C)-(1LT), (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

T 7% 1w A B A § UF 99 wisd # ever = i e ® S w9 G fiowew we oA
1 el S9zig "isE] i AUET FTEE E sl S a9 5 59 2

(1) e (de) = (2 -1
(3)  witas w2 718 359 (4) U i S s

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 71 FuF U T E : vF iR (Assertion A) F ¥7 ¥ fAfaW ¥ A1 750 3WF FEO (Reason R)
wEYH

AT (A) el WETT AT RE H U AT e e =0 ° geiug w5 e
F0 (R) T 3R Fege ®HY 97 W A § gaE A8 o ad |

I FYT % F °, A 2 e fomedt § 9 Ot 5 o 9 difa

(1)  (A) 3 (R) 41 @3 & #1 (R), (A) 1 &1 =ame 2|

(2) (A 31 (R) 2H 59 &, WA (R), (A) FT 7t =men 961 2
(3)  (A)=ed 2, wfF (R) 3780 2

(4)  (A) z@ea 7, @b (R) 979 B

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]



2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

o 92 W TEH B G9AT % w9 Fefeias wRE auas 98 0 S TEee i)

(A) 1500 M Bytes
(B) 5 K Bytes
(C) 1 & Bytes

(D) T Bytes

= fou U feekeal @ WE 39 1 = i

(1) (D), (A). (©).(B)
(2) (A). (D). (C). (B)
(3) (A). (B). (C). (D)
(4 (D), (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

FEEE F TaY § AEH sy A aE-wE S gE a8, A g wed e #

F (D) AE-FTE F 9 ST B FA A 2
w7 (1) ; T-hTS  ieAs @ sz anE A il e g A S e e 2|

IWIF FIA F AEF °, 9 @ 70 T § W " 39 # 95 hian

(1) =99 (1) 377 (1I) 591 a3 2

(2)  =yE (D) =3 (1) 241 51897 2



(3)

(4)

Fy (1) @ 2, =ik w9 (1) /e 2

F97 (1) 93 &, =i % (1D 923 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

g1 % =y g=-11 # faam Fifsm)
i1
(T arfeaTiue 77e2)
(A) OCR
(B) OMR
(C) Email
(D) Instant Messaging

= fau mu fameal # § wE 3 w1 == i

(1)
2)
(3)
(4)

(A)-(ID). (B)-(I). (C)-(IV). (D)-(I1I)
(A)-dD). (B)-(T). (C)-(I1I). (D)-AV)
(A)-(D). (B)-(II). (C)-(IIT). (D)-(IV)
(A)-). (B)-I), (C)-(IV). (D)-1I)

Match List I with List IT :

(4)

(B)

(©)
(D)

ListI
(Computer Terms)
OCR

OMER

Email

Instant Messaging

(I

(I

(ITT)
(IV)

(I)

(1D

(I11)
Iv)

111

(st

Zha =1 eAtAngd SEEEl # TR FH F
fem e e 21
5 -Formerivr et & i v O % forw

SEHFTAH F AR

TSI HE T

List IT
(Purpose)

Used to scan typed or handwritten
documentsa

Used to mark  multiple-choice
examinations

Asynchronous Communication

Synchronous Communication

Choose the correct answer from the option given below :

(1)
(2)
(3)
(4)

(A)-ID), (B)-D). (C)-IV), (D)-(III)
(A)-(ID), (B)-(I), (C)-(I1I), (D)-(IV)
(A)-T). (B)-(ID), (C)-(IID), (D)-(IV)
(A)-(I), (B)-(ID), (C)-IV), (I)-(I1T)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]

1.1

[Option ID = 8161]

2.2

[Option ID = 8162]

3.3

[Option ID = 8163]

4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

freafetian § & HH-31 0F AAH B AW FH AT g 27



(1) HoH SEATEES (2) Tusmse weUss

o

(3)  HEA SEHFETES (4y =g

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

Frferfiga & & F-m w91 |6 g 91 w0 =9 A6 2 7
() I af (2) e Sl
(3)  wrEE (4) FEfIEd

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

Frefafan ¥ 9 -5 THeH A9ET IO Aed! B AR I ATTHIGE G 7 TE E ¢
(1) 5= (2) “EeEE e
(3)  w=Emm (4) TEA

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

o

T T =i GEEiE FE A % 52 § NMSHE Fefafad § o fhos gammem 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :

(1) (B), (C) and (D) only

(2) (A), (B) and (C) only



(3) (B) and (D) only
(4) (B) and (C) only

faaferfiaa # o for Tguel 1 ufeel WaTE B9 % TR ST Serad aiEdd o oasdr 2 7

(A)  TTEZEE STEATEES
(B)  FomwE 924 (PMas)
(C) ==

(D) e

(E)  AT5gHE HAFEES

4= fau o fawedl § § w21 3 &1 =99 Firu

(1) === (B), (C) ¥ (D)
(2) & (A). (B) 21 (C)
(3) == (B) 3T (D)
(4)  Fad (B) #(C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
3= foan % @29 9, AEEE F=OR AEeE § = T § uF Tgass An 9 Ayt = F oo
Freafefiaa # @ e wdm T /avea =i e fan m?

(1) gt (2) TH I
(3) wAdiEame (4) uamEHids

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
Listl ; ; ; ; Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru

(C) NDRI ; ; (Ill) Lucknow

(D) CDRI ; ; (IV) Karnal

g=-1 % =y gEil-11 1 faere $ifs)
il Feft-I1
(&) wATTd O @
(B) wHaEITT 1) =
(C) W F HAR 3% (IID) ===
(D) i Zt am (IV) =T

e f2u o faedi 4 & |@E I 1 wEA Hilw

(1)
(2)

(A)-(IL), (B)-(II), (C)-(I). (D)-(IV)
(A)-(IL), (B)-(I). (C)-(IV). (D)-(III)




(2) (A)-(111), (B)-(11), (C)-(1), (D)-(IV)
(4 (A)-(IV). (B)-(IIL). (C)-(IL). (D)-(I)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

72 T Hifg (ua € d1)-2020 4 w5 £ & vs F e FHE w1 wEE 2| 99 e F fatea wewe s 7

(A) iR § sEeE S FEEn 2 T fEw dE )

(B)  =feTd =i BHZH B9 UIERER % OE0T % w@€g | GE 6 99 SAEE-UEE 59 U 09 gaar AT

(C) =t g WSt i wRE 3§ wEEaT g ARET et w i w6

(D) =W qftaal, F i Seed 9fEdT # &9 © dTew gHifed # @ e eg et
ST =1 TAR S 7Y S AIEE T4 wA

(E) oo vileniffil © siifg® 27 Se9m@ swmans #1 Ham w0

= far o e | | wEl 39 o =3 FIAT

(1) 3= (A), (D). (B)
(2) == (A), (B). (E)
(3) == (B). (D). (E)

(4)  Fa (A). (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (©), (D), (E) only

frafafaa 4 % FR-9 3-wfam 79 £7
(&) =Em

(B) e



(C)  T=Fmen
(Dy  <em
(E) 9%

= fau m famedi O O OF1 I W =94 Hi0

(1) === (A). (B). (E)

(2) =S (A), (C). (D)

(3)  #=F (B), (C). (D)

(4) == (C). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40)

Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?

(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T TPk TEE g9 AT A 2015 # Aad A wE-4 O geigd SeieiEd 3w -0 95 s

T At
(1) 379 TEed 3R ageed (2)  ToEETE T
(3) T ImER (4) FEFT FETER UE SEETEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topi

1)

c:- General Paper_Set1_C
Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. 1t has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UNs socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and worlking under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World

Bank projects a US 3110 billion decline in remitttances this year. which could mean 800



million people will not be able to meet their basic needs.

T 1 WEGHEE U2 997 T §1g 198 T W9 # I 2

FHEFT TEE FHIF5-19 FaME 201 569 F SAYdYs 479w SR g9 i1 fgia favsag & ae i wem
ot g 21 fooet = sifam A1 4 ufien § cuk 33vE % WY TR ARG SR I SISH R
TR W R I 2| 39 OF g@E 9 F 10 9@ | A 9 = 9% 2 @R 5 geEa # R #w
T SHEAE ATF 331 93 TE 2| Weg 9% UEME TR O ° FE A9F 3, T8 TR YA
aETTah- Al wHz ff 2| ZW W weAw At TmE nWiled 2| Toen faemnl @mies enide s
(faft) @ 7 w= & ft o T 99 TEE W R, W § T fO9vd R e & 5ed ¥ u9e
W gedl gegl B ff 2@ w2 a9 9 dfvas awdE s FEeE o wE w o g u dfise
AH-IAE % Sgcd § e w6 T 2| w G @ Aed St o g e w21 3= A8 A R afdesrta
WHIHIHA"WOTIH'JdimﬁmWWW?ﬁwﬂﬂaﬁ—ﬂj@ﬁﬁ:lW@HWWW

A & T 400 fafema (40 Frg) @ #1 Fwten =1 gdt 2| fava @ 3 a99m a2 oem
%ﬂ—w{rhaq)nLtommﬁwwﬁmﬂmﬁlwaﬁmoﬁﬁooomﬁw(mm)
S AT g SEdt W g e | gEd T a e

The major crisis faced by the world since World War Il is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

Tz favagg & =12 fova =1 w9g @91 99 5w &3 9 s 27

(1) s (2) iR
(3) H=Em (4) =

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]

A W N -

1 [Option ID = 8205]
2 [Option ID = 8206]

. 3 [Option ID = 8207]

4 [Option ID = 8208]
Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. 1t has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socle economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline 1n remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

T ] WEEHEE U 1 T @15 HE T W H I 2)

AT TTE FF5- 19 FEWRT 591 599 F1 AYays 37a® = g% 91 i fveag & o i wow
VL i B . T T e i e "R o s, RS, L PO E R el e g, R T N S e B LK D WD e e




ol T . e by e . i S . el Rt s Lo

TR W R I 2| 39 OF g@E 9 F 10 9@ | A 9 = 9% 2 @R 5 geEa # R #w
T SEEAE AW S8 U5 1@ 2| Wed 9% SNl e 6% 4 Fal SAa® 8, I8 U SAayd
TETaFR-ASF w6z ff 2| 2 W U A SEE a2 sE% SREmnl wEies g S
(fearit) @ 7 w= & ft o T 9 T W w7, W @ T f9vd R e & 5ed E A9w
e gedl gegl w f 2@ w2 a9 °F dfvas amdE aEtE FEeE o wE w0 o g w s
AH-AE % Sed § e o T 2| w5 S Ae St o A e B 3= T A R afesta
w9 GEFg B wes v R g gidie gl % siee i wHg-te wel uS §| g 3w w@e w6
o & TR 400 fafemm (40 Fs) & o SR ST o 2| v dF 3 wgeE ae ® o A
g (Ifgdm) § 110 fafema smich gen £ =t st o sl 2 7 s00 fafeem (s0 =rg)
S AT S et g A § gued a8 A e

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

wemrl 1 Feafatas § 9 fea g w o 98 e 27

(1) == (2) anfuw

(3)  =E SR A (4) TEER
[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1 [Option ID = 8209]
2 [Option ID = 8210]

. 3 [Option ID = 8211]
4 [Option ID = 8212]

A W N -

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1s much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.

TS T WEEHYEE Ug q9T $EF @15 150 T 99T I 2

AT TEE FE5-19 TEMR 591 09 1 SAYTys I79F =R g% 31 5 g + an o wew
o T 21 ot =i % sifam f240 | uften § o Igwa % W19 g% G S i BigH Tl
TR B b 99 21 3@ 0% @ 9 4 10 9 o SO I a1 99 7 SR ol aead i a #@
YT SFEEAE S IS TS @ 2| Wed TF WEEN WA R d FEl AGE 3, TE UH AYaqE
TS T4 US4 a1 7 fAs ot GEa a9 TR e e A 2| 9 0% 0 Amies i afqts
(fadt) @ 7 w= 2 ff v T 9 TEE W T E, WY 6 7 fOvd TR e F 5eAR ¥ 9w W




e HEHl 433 W Wl @ TE B dY7 FE AWas "EEE A FEEE F R R W T S el
=A% % A9cd | I w0 B w G a e S o o e w 21 3% T8 e TR et
F4 TEFE B Wed 7 AT B g e F sred AN WHE-02 Wel U2 B SAaUEE 49 W w6
FIFA & T 400 Tafema (40 #ars) @ 1 SpiEn =1 awdl 3| fva o9 4 @gEE a2 o T
w-Tr () § 110 fafems amfeft sew 6 =i smwft) soe sty 2 1% so0 fafesm (s0 +s)
A A ST Al g e W aa T A

Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica

-1 TETEM FTT-19 H HIH FA A 5T B

(1)

(3)

i (2) = i
AT feran (4) wTEmRiZHT

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]

A w N =

1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1t emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 300

million people will not be able to meet their basic needs.

T W HEEHEE U2 AU 36 915 5T T uv % 3 2|

FHAFT = HiF5-19 FEME 501K 569 F SYdYs 479 S g9 iR {3 farag & e f mem
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aEfaw-Afd® awz off 31 3 = veEw =t e awifEa 3 T e aefas arfds wiR
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

e 4 | fopm gegy 5 UN =t @it oo wiamfs (feredl) 3= =i 590 w2 T 27

(1) UNDP (2) UNICEF
(3) UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

A W N -

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1s much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

TS 1 WEEHYEE Ug q9T 36 915 20 T e S 2

FHAFT TEE FHI(G5-19 TEMR 501 699 1 A4S d79F S G 3R g favag & an o wew
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T FEEAE AF IIE U5 W Bl g A% FEWN TR THe § FE AGE B, TR TR YO
aETaF-ATEE gz ff B 2W W TS ARG SHE UAIES 2| 36 ATl miEiEs g Hin
(fadt) @ 7 w= 2 ff v T 9 TEE W T 7, WY 6 7 Y9 TR e 5eAR T 9w W
@ HEdl geal w1 ff 2@ W R 99 g% Afvash umEE s FEeE w owE w6 g i
oA % Agcd § e R T 2w T S and SAsfan ol amm e w 2| 3= T8 e o afdesfe
w9 GEFE B wEed 9 Y 2 gdiE e o sieel # WHg-02 Wiel 9% §| SAaUUiE 99 @ @6
AT & T 400 fafema (40 =#ars) =i =1 e =1 @At 7| v s 7 wEE @ 2 e s A
g-Tmr (ifEeE) 9 110 fafeme wufef sen 6t w0 st see wfiome 2 % soo fafemm (so0 =)
ST Aot i St w0 g e g wwe A8 A e

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

FIAS-19 % el § F=Aieiigd § @ 57 @341/ OfG8H 53 5F %1 G969 F5 9= gt ¢



(1) Wi 39m (2) = ui=E Fg
(3)  sitefes afaem (4) St afeE

[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]






